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Junior Engineer Civil Mechanical and Electrical Examination 2024 Paper |

[Roll Number

Candidate Name

\Venue Name

Exam Date 05/06/2024

Exam Time 1:00 PM - 3:00 PM

Subject Junior Engineer 2024 Mechanical Paper |

Section : General Intelligence and Reasoning

Q.1 STAR 3RS qUiATAT & U & YR TR TH FAfda a8t § Twev I Wdfta 31 3 adie
d, PARK, QDTO ¥ eifrd § 1 WHIT 0 T a0 $4 §T, MILK Frafefa & & fred

Tefia g2
Ans X 1.MLMO
X 2.MLNO
X 3.NLMO
« 4. NLNO
Question ID : 630680376880
Option 1 1D : 6306801468583
Option 2 ID : 6306801468584
Option 3 ID : 6306801468586
Option 4 ID : 6306801468585
Status : Answered
Chosen Option : 4
Q.2 3l guiarer H0 & YR W & 13 e # uy-Rig (?) & T W T 3147 A1feT?
INJ, LQM, OTP, RWS, ?
Ans X 1.UVZ
o 2.UZV
X 3.vzU
X 4.vUz
Question ID : 630680376923
Option 1 ID : 6306801468756
Option 2 ID : 6306801468755
Option 3 ID : 6306801468758
Option 4 ID : 6306801468757
Status : Answered
Chosen Option : 2
Q.3 &g §@a # Uy fF (?) & I W T AT A18Y?
2,5,13, 28, 52,87, ?
Ans X 1.98
2 2.130
o 3.135
X 4.107
Question ID : 630680378757
Option 1 ID : 6306801476075
Option 2 ID : 6306801476077
Option 3 ID : 6306801476078
Option 4 ID : 6306801476076
Status : Answered
Chosen Option : 3
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Q4 gfg A P e '+ §, B BT 3 ' B, '¢ BT 3 '+ R 3R D T aref - B, o) FrrwferEa
THE0 # Uy =g 7' & T W T STT?

10B2D15A3C7="?
Ans o 1.22

X 2.20

X< 3.21

X 4.24

Question ID : 630680502794
Option 11D : 6306801964757
Option 2 1D : 6306801964758
Option 3 1D : 6306801964759
Option 4 1D : 6306801964760
Status : Answered
Chosen Option : 1

Q.5 uw fAf¥a e urar d,
A+BHTATR'A, BHI TG
A#BHTATR'A, BIHTHE T
AxBHTATR'A, BB U &
A@BPTAIR A BRI
SR P AMYR W, ARG EX#FxH@ G + M §, @ E BT M A T TaY 872

Ans X 1. 4TS
X 2. fuar
X 3.4
o 4. T

Question ID : 630680376959
Option 11D : 6306801468902
Option 2 ID : 6306801468899
Option 3 ID : 6306801468901
Option 4 ID : 6306801468900
Status : Answered
Chosen Option : 4

Q.6 3T JuiaTaT 9 & SMYR TR &I TS yRaen § vy fg (7) & RIF W 1 M
KMO, HJL, EGI, BDF, ?

Ans 1. YAC
X 2.ZAC
& 3.ZBC
& 4.YBC

Question ID : 630680376901
Option 1 1D : 6306801468669
Option 2 1D : 6306801468670
Option 3 1D : 6306801468667
Option 4 1D : 6306801468668
Status : Answered
Chosen Option : 1
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Q7 fiu T YAl R fAewul @) eaFyd® ufewl a8 ura g¢ fp syl A & S Ser) aw
8, wd €t g AmE: a9 | i vl gt 8, ug au Fifv fF g e e § @
-1 B-Y Frepd Hu=f 1 arfde 0 A a0 Har 8/ Fd 8
FYT: $O BN, U g1 9t 7p, FR
fred 1: 0 7P, PRI B
frepd 2: po T, T I

Ans X 1. %Had fIshY 2 SR HRaT 7

X 2. Fad Y 1 STARY BT B
o 3.7 1 IS 1 SFTERUT T § 3R 7 8 2 SR Hradl &

% 4. e 1 3R 2 I 3TERY R B

Question ID : 630680381042
Option 11D : 6306801485144
Option 2 ID : 6306801485143
Option 3 ID : 6306801485145
Option 4 1D : 6306801485146
Status : Answered
Chosen Option : 3

Q.8 T gfur Y 2 RETT TT SFER MN TR &1 1 8, @t @ 7€ sy & wdh adur ufafaea
BT I DI

M
7KL32a

N
x1.eSL3AX

X223 €E1AX
X339 ET1AL
s2BSEIAN

Ans

Question ID : 630680524860
Option 1 ID : 6306802051542
Option 2 ID : 6306802051539
Option 3 ID : 6306802051541
Option 4 ID : 6306802051540
Status : Answered
Chosen Option : 4
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Q.9 g gdur HY 2 T AFAR MN TR @7 W1 &, at & 7€ anrpfar & wd) gdor ufafda &1

T PIEI
Ars X1 EXAXKHE
X2 d XAV 4
v XYhH
x+ ¥V X A4
Question ID : 630680456654
Option 1 ID : 6306801783579
Option 2 ID : 6306801783580
Option 3 ID : 6306801783581
Option 4 ID : 6306801783582
Status : Answered
Chosen Option : 3
Q.10 Tfg '+ 3R 'x' BT AT & TG a1 ST qUT '~ 3R '+ Y 3y A ged four &g, o
Frafafea gfiezo & vy g (2) & M R 91 3ET?
12+4-24x11+13="2
Ans X 1.-20
X 2.-10
o 3.0
X 4.10
Question ID : 630680377614
Option 1 ID : 6306801471515
Option 2 ID : 6306801471516
Option 3 ID : 6306801471517
Option 4 ID : 6306801471518
Status : Answered
Chosen Option : 3
Q.11 it guiaTar wH R el § 78 @ar # uy-fg (2) F R R F41 3mu?
RQO, LKI, FEC, ZYW, TSQ, ?
Ans 4 1. NMK
< 2. MNK
2 3.NML
7< 4. MNL
Question ID : 630680395304
Option 1 1D : 6306801541423
Option 2 ID : 6306801541421
Option 3 ID : 6306801541420
Option 4 ID : 6306801541422
Status : Answered
Chosen Option : 1
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Q.12 fg '+ 3R+ ) IRER TG 1T SiraT @ 3R 'x' 3¥ '-' &) TR 9o f&ar oirar @,

Frafafea gz o uy g (7) & M R F91 3mTm?
21+15%x52+13-7=7?

Ans 1.8
X 212
% 3.10
X a7
Question ID : 630680376976
Option 1 1D : 6306801468969
Option 2 ID : 6306801468968
Option 3 ID : 6306801468970
Option 4 1D : 6306801468967
Status : Answered
Chosen Option : 1
Q.13 |MPU 3RS P YR W TH Ff3d a8e A LPSX A Haftr g1 3t U, BEKN,
EHNQ & Tafia 81 3 9 1 3aRvT #d ¢, cLQs Fufafed & 3 fra wafta 82
Ans X 1.ACLK
X 2. 1JSH
X 3. PLNF
& 4.FOTV
Question ID : 630680377696
Option 11D : 6306801471846
Option 2 ID : 6306801471843
Option 3 ID : 6306801471845
Option 4 ID : 6306801471844
Status : Answered
Chosen Option : 4
Q.14 I TSI BT TG B RIS WWATE TH-gI | S9! PR Tafdd g, o o
P o8 et 3 oo &1
(FiYe: TG-Sl ®) I ged 3l | drs famn, ol semsit w wifpang 5t st @zl
ITeX1 F AT 13 - 13 TR ThHAT S fF 13 § SSAVITAATON HAT 3N B &1 Jebelt
113 Y 1 3R 3 A e 3R 67 1 3R 3 WR nifdredia Aftramd o & srgufa 781 B1)
(45, 23, 73)
(19, 27, 51)
Ans X 1.(31,17, 48)
X 2.(22, 29, 52)
o 3. (16, 14, 35)
X 4.(12,19, 30)
Question ID : 630680376817
Option 1 1D : 6306801468333
Option 2 ID : 6306801468332
Option 3 ID : 6306801468334
Option 4 1D : 6306801468331
Status : Answered
Chosen Option : 3
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Q.15 fafafaa aiieer & uafg (?) & I U b1 3, I+ 3R + &1 3y & g5
fear sime aut 'x' 3R - P Uy # e far we?
10+2-10+5x10=?

Ans #1.45
X 2.35
& 3.40
~ 4.32

Question ID : 630680377708
Option 11D : 6306801471893
Option 2 ID : 6306801471894
Option 3 ID : 6306801471892
Option 4 ID : 6306801471891
Status : Answered
Chosen Option : 1

Q.16 I faey 1 7= PHoE forad Gt 98} T Iren el @ ot Jay &g e J=rn 74)
IRT 9T fohaT T R
120-100-60
240-220-180

(FiYe: T=msil @) 3P g Sl | drs fan, gof wemsit w difrarg #t it @zl
IETERU1 & T 13 Y o - 13 WX AfpaTg, 9 6 13 & SSA/=eHIATON S 3n1fe, Y i
%ﬁﬁﬁnsﬁwﬁ?sﬁ?ﬁsﬁaﬁ?ﬁwwﬁmwnﬁmﬁmﬁmﬁaﬁmﬂﬁ
Ans X 1.150-160-140
% 2.90-80-75
o 3.200-180-140
X 4.220-210-200

Question ID : 630680387173
Option 11D : 6306801509388
Option 2 ID : 6306801509389
Option 3 ID : 6306801509386
Option 4 ID : 6306801509387
Status : Answered
Chosen Option : 3

Q.17 39wy & 3l BT TP g g 7a1 @ ot U gY@ U i voer @ walta 31 sa g
BT TG PTG, St TH Hae IS BT 2

(T3t Bt A1 &) et & TT | AT ST IRy SR et Weg H SR Pt H=eel/
TR B ST & YR W TH-gaN | Hafdd A1 foan J=m a1l
ITHIeR : HaTg
Ans X 1. e o@
X 2. TiedeR: U
X 3. cumeR : gl
w4.%’l§7}ﬁﬂﬁﬂ:3ﬂ§m

Question ID : 630680556096
Option 11D : 6306802173760
Option 2 ID : 6306802173762
Option 3 ID : 6306802173763
Option 4 ID : 6306802173761
Status : Answered
Chosen Option : 4
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Q.18 A, B, C,D, E 3R FT&

JATER A & TRI 3R F5 B R T FIP 96 7 (AfhT st

T PN PAAE)IB, FP ISP U IR CHF SF I IBT8I C, EF 3P A 93T 81 A,

E ¥ &% a1¢ 3R D & 319 a1¢ 931 71 F & 1P a1¢ $14 931 872

Ans X 1.A
X 2B
X 3.c
& 4.D
Question ID : 630680377010
Option 11D : 6306801469105
Option 2 ID : 6306801469103
Option 3 ID : 6306801469104
Option 4 ID : 6306801469106
Status : Answered
Chosen Option : 4
Q.19 I Ieq-giH T T BT, &t 12 fAw ¢ 2r<gl & g =g b Y ey &, qa=
Aoy oY gataw U A qufar
(W) Y Tl &Y Trecf & TU A AT ST AR 3R 398 Wes H S1&RY &1 T-A/w 1/
TR B ST & ATYR R TH-ga o Hafdd A1 foran J=m i)
qrsHidre : P
Ans X 1. UcHHTdlol : Teft
X 2. U3arst: ug
o 3. et : e
X 4. ST - 38
Question ID : 630680556091
Option 1 1D : 6306802173741
Option 2 ID : 6306802173743
Option 3 ID : 6306802173740
Option 4 ID : 6306802173742
Status : Answered
Chosen Option : 3
Q.20 s fAfy Fe WToT , 'SANG' 1 '3618' & U H Hedw fbal oIl 8, 3R 'RANG' B
'6438' ¥ U H e fHa1 rar 31 39 U & 's' & e $e 7n 82
Ans X 1.3
X 28
o 3.1
X 4.6
Question ID : 630680376410
Option 1 1D : 6306801466707
Option 2 ID : 6306801466710
Option 3 ID : 6306801466709
Option 4 ID : 6306801466708
Status : Answered
Chosen Option : 3
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F FU A Feas fHar amar g1 & S urwr 7 A F e ge F®nge
Ans 1.9
X 25
X 3.4
X 4.3

Q.21 g fAf¥a e UTeT #, 'HAIR' ®t '7935' & U § Feds: fha1 oI1dT 3 3R "AGED' Fi '4892'

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

630680376549
6306801467265
6306801467264
6306801467266
6306801467263
Not Answered
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Q.22 Ry Y fRwel & & I Mpfa &1 997 ST Y vy-RiE (2) ) ufowiiia = aod @
3R AT 7 e &) @1 B gt 21

Ans

x 4.

S
5
S
O

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

630680524809
6306802051338
6306802051337
6306802051335
6306802051336
Answered

2
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Ans

Q.23 39 fywed &1 994 PR Y FufafEd e & arde ok aifée wa-fa=ama 1 gxfar

gl

1. 315
2. DG
3. 91|

4. A&
5. qIRiT

X 1.1,324,5
X 2.2,1,54,3
X 3.51,3,24
o 4.4,1,53,2

Question ID : 630680404456
Option 1 ID : 6306801577324
Option 2 ID : 6306801577325
Option 3 ID : 6306801577326
Option 4 ID : 6306801577327
Status : Answered
Chosen Option : 4
Q.24 3Sh quiaTer w0 W nutfea & 78 f@ar § vy /g (?) F M W T 1A ARy
LXC, OZD, RBE, UDF, ?
Ans X 1.ZDI
X 2. XHJ
o 3. XFG
X 4.YGH
Question ID : 630680386936
Option 1 1D : 6306801508456
Option 2 ID : 6306801508457
Option 3 ID : 6306801508454
Option 4 ID : 6306801508455
Status : Answered
Chosen Option : 3
Q.25 15 Ue fAifa a BT SR I §U 230 W Wt &1 4 AN db BT AFHIV B §U 65
¥ Tefla B 1 TuT 9 BT SRR B4 g, 12 Frafiied & & frad wafta 82
(FiYe: T=msil ®1 I U 3wl | faunera feu famn gof Teneit wr wfsant &t st
TIRCI ITERVT & AT 13 B & - 13 W TRBATY, S % 13 H Se-T1/"aeHIATON AT 32,
P ST FBdl &1 13 DI 1 3R 3 A RyuTiora s 9y bR 1 3R 3 W o dfpamd 3
P argafa T8 B1)
Ans X 1.187
X 2.186
o 3.185
< 4.180
Question ID : 630680451715
Option 1 1D : 6306801763946
Option 2 ID : 6306801763947
Option 3 ID : 6306801763948
Option 4 ID : 6306801763949
Status : Answered
Chosen Option : 3
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Q.26 &} 775 YTar # *2* & I UR FT AT A1MLY?
394, 465, 536, 607, 678, ?

Ans X 1.756
& 2.749
X 3.736
X 4.768

Question ID : 630680378803
Option 11D : 6306801476259
Option 2 1D : 6306801476261
Option 3 ID : 6306801476260
Option 4 ID : 6306801476262
Status : Answered
Chosen Option : 2

Q.27 & T SEar ® wyfug (?) & I W R AT A2
6,3, 12, 6, 24, 2, 48, 24, 96

Ans X 1.24
X 2.48
o 3. 12
X 4.6

Question ID : 630680379055
Option 11D : 6306801477268
Option 2 1D : 6306801477270
Option 3 1D : 6306801477269
Option 4 ID : 6306801477267
Status : Answered
Chosen Option : 3
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Q.28 3IH famed o1 7a Bifore R & 7¢ e wfafa 3 (gam 3t ergafa 781 8)1

Ans

1.

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

630680524478
6306802050014

: 6306802050011
Option 31D :

6306802050013

: 6306802050012
Status :
Chosen Option :

Answered
1
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Q.29 fFafafed gen-gwl §, edt Yo R FHda Tty wheart s gust $en ura $t
ST 31 I TS BT 999 PG e Heg St yeR "aita § o yer Fafafea
Y=l B H@IE WAl g1 _

(Fite: T=msil @) ITF g 3wl | drs famn, ol wemsit w ifrang #t st @zl
e & T 13 Y o - 13 WX WfpaTg, S 6 13 & SSA/ECHIATON ST 311fe, FY i
THedt &1 13 D1 1 3R 3 H dleA 3N b 1 3R 3 W ity wipam & &t srgufa =&t

)
(6, 34)
(8, 46)

Ans X 1.(4,24)
o 2. (10, 58)
X 3.(7,38)
X 4.(12,76)

Question ID : 630680377730
Option 11D : 6306801471982
Option 2 ID : 6306801471979
Option 3 ID : 6306801471981
Option 4 ID : 6306801471980
Status : Answered
Chosen Option : 2

Q.30 T fAf¥d pe utwr #,
‘A+B PTIASETH A BRTHE T,
A-B TSP A BII AT,
‘AxB BT g P A, B BT & 3R
‘A+B ol fF A BB
IRA'Bx G+ T+K-L" g, d BPILIA R HGY g2

Ans g1 T
X 2. yisht
% 3. ycitelt
X 4@

Question ID : 630680377669
Option 1 ID : 6306801471735
Option 2 ID : 6306801471738
Option 3 ID : 6306801471737
Option 4 ID : 6306801471736
Status : Answered
Chosen Option : 1

Q.31 I AYY PT T9 Fiforg fora HBIE SH TR & 3w & Wafta ¢ S vor &
Brafate o8 ¥ v 21 .
([Are: Tl P SuP gew 3P| & a1s f, guf sens w wirarg &1 st =nfeu)
IETeund 13 —13 W HiHATE S 13 W/ SISAIICHIAUN A1 3fe Y I gt g1 13
P 1 3T 3 A s 3R fbe 1 3R 3 W T Tkt e #t srgufa 1 @)
(9, 576, 8)
(7, 252, 6)

Ans X 1.(8,650, 10)
X 2.(15,210,7)
X 3.(4,82,5)
o 4. (10, 40, 2)

Question ID : 630680390232
Option 11D : 6306801521372
Option 2 ID : 6306801521371
Option 3 ID : 6306801521373
Option 4 ID : 6306801521370
Status : Not Answered
Chosen Option : --
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Q.32 LQKN 3¥i 9ufHTaT shH & YR TR T i3 8% & PUOR & Iefid @1 INHK I}
TP F MRLO ¥ Wafta 81 3 a& &1 urea $ed g¢, Qvpes Fafifaa 3 4 feaa
Teifira @2

Ans o 1. UZTW

X 2.UzZWT
&< 3.WZTU
X 4.wzuTt

Question ID : 630680376720
Option 11D : 6306801467946
Option 2 ID : 6306801467945
Option 31D : 6306801467943
Option 4 ID : 6306801467944
Status : Answered
Chosen Option : 1

Q.33 LQNR 3i3ft quiETen 0 & STUR W T Mfda adtd & PURV & Hafta 31 S0 7R
(%):'QU, SXUY & "afira g1 I b &1 utaT wva g, eLIM Fafafea & 3 e defta
Ans X 1.PKMQ
o 2. KPMQ
X 3.PQVK
X 4.QPMK

Question ID : 630680379505
Option 11D : 6306801479064
Option 2 ID : 6306801479065
Option 3 ID : 6306801479063
Option 4 ID : 6306801479066
Status : Answered
Chosen Option : 2

Q.34 0B 8 U fAf¥a adte | UE 3 | Tafda 81 W a8F A/ TO 11, ZR 6 A Waftd 1 U= a6
P11 Fd gU, IB 8 FRufafae 3 9 fra ddfia 32

Ans X 1.0F3
X 2.PF-3
o 3.0E3
X 4.PE3

Question ID : 630680386527
Option 11D : 6306801506819
Option 2 ID : 6306801506821
Option 3 ID : 6306801506818
Option 4 ID : 6306801506820
Status : Answered
Chosen Option : 3
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Q.35 7fE Ireq STAMPED & UaI® &R Bt RISh quiigewd ¥ srafeud fasar g, &Y feam srery
&R ) fRufa ermfyafda w7

Ans g1 @l
X 2.4
X 3.9R

X 4w

Question ID : 630680396640
Option 11D : 6306801546652
Option 2 ID : 6306801546653
Option 3 ID : 6306801546654
Option 4 ID : 6306801546655
Status : Answered
Chosen Option : 1

Q.36 Sfwy, fig D FHAT ARY B! 8 3R IR B 3R 3 km I139 Fedl 31 R a8
1S 3R gl @ SR 10 km 139 FXd! 1 78 fh 912 3R gl 7 3R 6 km $T3a TRt B
I8 U 9R fibe a1 3R Yaeil 8 3R 5 km T159 Hedl 31 I8 fB7 1S 3R Yool 8 8% 3 km
15 Bell 31 98 3id B 912 3R gl § o fig E 99 g™ & forg 5 km g159 w5l 81
fdg D W T A ug=M & fRrw IV fait gr (Rraw g ok fopw fa=m & g1ga w1 ghme
(ST a% sy 7 far s, |+t Me Faa 90 feift & As 7)

Ans X 1.5km 3R
o 2.6 km I

X 3.5kmyd
X 4.3km IR

Question ID : 630680378906
Option 11D : 6306801476672
Option 2 1D : 6306801476674
Option 3 ID : 6306801476673
Option 4 ID : 6306801476671
Status : Answered
Chosen Option : 2
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Q.37 I fymeq M BT 797 Y Sl Uedf 1 1 ¥ & g i & 78 snpfar & v g (2)
F VI TR 31 qFt 31

OA | AO

AU

~J

Ans

x+| AO

Question ID : 630680525486
Option 11D : 6306802054029
Option 2 ID : 6306802054030
Option 3 ID : 6306802054031
Option 4 ID : 6306802054028
Status : Answered
Chosen Option : 1

Q.38 uw fAf¥a e Ut &, ‘FLEW &Y ‘8462’ ¥ U N Feds [%al 9raT 8 3R ‘LORD’ Ht
‘9736’ ¥ U H e a1 Arar gl
& 7€ 39 B WM H, L F T o g
Ans X 1.9
2.6
X 3.4

X 47

Question ID : 630680377195
Option 11D : 6306801469844
Option 2 ID : 6306801469845
Option 3 ID : 6306801469843
Option 4 ID : 6306801469846
Status : Answered
Chosen Option : 2
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Q.39 us fAf¥a g UTST H, "apple is healthy' F1 * di jl ew" @1 ST & 3R "apple is red" H 'di
ko ew" foreT ST 21 €1 TE HTHT & ‘red’ @) fobey U R ferar siram?
Ans X 1.di
X 2. ew
« 3. ko

X 4]l

Question ID : 630680388165
Option 11D : 6306801513222
Option 2 ID : 6306801513224
Option 31D : 6306801513223
Option 4 ID : 6306801513225
Status : Answered
Chosen Option : 3

G Hr anpfy B e Be

Ans o 1.13
~< 2,12
X 3.14
X 41

Question ID : 630680524413
Option 11D : 6306802049753
Option 2 1D : 6306802049752
Option 3 ID : 6306802049754
Option 4 ID : 6306802049751
Status : Answered
Chosen Option : 1

Q.41 7fg e FOREIGN & T 31&R PI 3iIel quiigepd # sqafeud forar &g ot fobaa siart
+ fRufa(ah) srafvafda iRt

Ans o 1.9
X 2T
Xa3.a
X 4ad=

Question ID : 630680404425
Option 1 1D : 6306801577200
Option 2 1D : 6306801577201
Option 3 1D : 6306801577202
Option 4 1D : 6306801577203
Status : Answered
Chosen Option : 1
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MAT MET MIT

92 sieft ot s TR ST &1 TS e 7 Uy-Rg (2) & RIF TR R AT

Ans X 1.MNT
o 2. MUT
K 3. MVT
X 4. MXT
Question ID : 630680378698
Option 11D : 6306801475840
Option 2 1D : 6306801475842
Option 3 ID : 6306801475839
Option 4 ID : 6306801475841
Status : Answered
Chosen Option : 2
Q.43 39 T fawew &1 au-1 B oY Rl U8l 3t 37% PR & SR qawT &)
aifaT 81
1. 97
2. geafa
3. 3P
4. Q)
5.9Y
Ans #1.51,3, 4,2
X 2.521,3,4
X 3.54,2,1,3
X 4.53,4,21
Question ID : 630680565832
Option 1 1D : 6306802212279
Option 2 1D : 6306802212276
Option 3 1D : 6306802212277
Option 4 1D : 6306802212278
Status : Answered
Chosen Option : 1
Q.44 IS quinTar HH & SMUYR W & T8 @ 3 uy-RIg (?) & T W 1 3147 A1fge?
DMY, BKW, ZIU, XGS, ?
Ans X 1.WCR
X 2.UDP
" 3. VEQ
X 4.UFR
Question ID : 630680382493
Option 11D : 6306801490887
Option 2 ID : 6306801490889
Option 3 1D : 6306801490890
Option 4 ID : 6306801490888
Status : Answered
Chosen Option : 3
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Q.45 3; TR TS, T, I, Sieil, THT 3T Teit & aoT SIeNT-3eT & | STt ®T asi U faud
I 21 Sich, THT & HRT 8, Afh= Tad It =81 |1 9, Bt @ Wikt 8, afer sieit 9
ol 21 T, THT 9§ YR 81 §, AT Beit ot Tal & YR 1 Ta) 1 9o IS faud
T ET B | TIH goopT aul 45 fhaurd N a9 YR 9o 80 frauma 21
e ¥ wad U safed &4 82

Ans g1 Tl
X 2.wdl
< 3.TE
X 4.9

Question ID : 630680521125
Option 11D : 6306802036927
Option 2 1D : 6306802036925
Option 3 ID : 6306802036928
Option 4 1D : 6306802036926
Status : Answered
Chosen Option : 1

Q.46 D, E 3R F T T A9l W IS g B 30X AFE s 33 § (@fr= o=l 78

A,B,C,D

%s@ﬁ AENI A BHF P TE ARE, E,BH IS NI VA RE, D, CH 3P ars
3RBIF, CFHaE AR TN A REI

E%ﬁwawusﬁ’raﬁﬂ%?

a)A 3R B

b) B 3R D

c)DGﬁ?F

d)F 3B

Ans X 1.(b)
X 2. (a)
« 3.(c)
X 4.(d)

Question ID : 630680376401
Option 11D : 6306801466672
Option 2 ID : 6306801466671
Option 3 1D : 6306801466673
Option 4 ID : 6306801466674
Status : Answered
Chosen Option : 3

Q.47 ue FAf¥a ab &1 uTes F3a g, 142, 92 | Tafla 81 M 9 BT AR B §, 255,
205 3 Aafera 81 I aF BT SRV B g, 457 Frafiafa & & frud ddfta 82

([Ale: T I 3ud gcw P! & faurfora fpg fam, guf sensi w wirarg &t st
R I ST & 1T 13 — 13 TR WfbaTt I o 13 & Ss/aeIATON e 3 Ft o
aaﬁﬁ%;_g%ﬁ1 3R 3 faved & 3R b= 1 3R 3 W TfordT HfhaTd &3 @1
SrgAfa 1)

Ans o 1.407
X 2.417
X 3.427
X 4.437

Question ID : 630680396913
Option 11D : 6306801547720
Option 2 ID : 6306801547721
Option 3 ID : 6306801547722
Option 4 ID : 6306801547723
Status : Answered
Chosen Option : 1
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Q.48 3T T HYAYT 3R Fepul &1 eaFyd® g PRI FY=1 A & 1€ TR B Td
A §T, ¥ &t U5 Fdgra gt A i wedta g 81, Mruffva sifsre % e e frepef &
J FH-A1R e Y= BT ahETd U F SFT0 BT 2/Hd 8 |
Fy: Tt B gg €1 @t g fag &1 @bt feag it §1
s (1): et o ifere §1
formd (11): w0 A 79 $o fFau B g

Ans X 1. had FISPY (11) SFERUI BT §
X 2.9 e (1) 3R 71 & s (1) SRR HReT §
X 3. Bacl FIepY (1) SFTERU BT ©
o 4. Fpd (1) 3R (1) S SR Y v §

Question ID : 630680376527
Option 1 ID : 6306801467176
Option 2 1D : 6306801467177
Option 31D : 6306801467175
Option 4 1D : 6306801467178
Status : Answered
Chosen Option : 3

Q.49 3 fawen anpfar 1 aw Fifor, R § ¢ anpfar SwF Wi F U A wfFifRa @ (g
1 argufa 78 7)1

A
Ans ‘&

¥ O¥
o 3.
AGA
A N O
X4|lC A D
= v A

Question ID : 630680422243
Option 11D : 6306801647408
Option 2 ID : 6306801647409
Option 3 1D : 6306801647410
Option 4 ID : 6306801647411
Status : Answered
Chosen Option : 3
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Q.50 7 fig A & URY FaT B 3R <fér01 Y 3R 4 km $T59 Heal ¢ | fibr 98 a1¢ gSa1 3 iR
5 km $13d HXal 8| fb7 a8 ¢ Year 8 3R 2 km T139 HXaT 3| f6R 98 SHaRT a¢ gar @
aﬁvskmwm%lmﬁmm%aﬁ?ﬁgswu@ﬁ%mekmwm
B fig A TR QaRT g & forg 3= faraeit gﬁ)aﬁvmﬁmﬁwm
T2 (W9 a FAfEY 7 far smg, @bt dis 90%T,ﬁa1ﬁ 5 8)

Ans X 1.3km, Ud
X 2.2km, @
< 3.3 km, TiE™g
o 4.2 km, U3

Question ID : 630680376853
Option 11D : 6306801468478
Option 2 1D : 6306801468476
Option 3 ID : 6306801468477
Option 4 1D : 6306801468475
Status : Answered
Chosen Option : 4

Section : General Awareness
Q.1 THTH 98 ¥ 791 IRENE 991 & fag Fafrf@a & @ S1H-0 aidse ol (key ) 32
Ans X 1.Ctrl+N

K 2.Ctrl+P

«" 3. Enter
25 4. Shift + Enter

Question ID : 630680571752
Option 11D : 6306802235916
Option 2 ID : 6306802235917
Option 3 ID : 6306802235918
Option 4 ID : 6306802235919
Status : Answered
Chosen Option : 4

Q.2 waR-eyd fafir yenfaal & forg vyl smam & &0 ¥ 59 yoR 1d #3d 82
Ans X 1. SOR-CHWE! $T Bis UIRIRUfID A8 el 2

o 2. SIRACHE Gt Sfial & forg uor et 3R TG Suds I § |

X 3. SARACHE APRICHBRUT H T H1d g

X 4. SORAGHYE $Had TARGIH Tafafdl & forg Aeayuf § |

Question ID : 630680615281
Option 11D : 6306802407798
Option 2 ID : 6306802407799
Option 3 ID : 6306802407800
Option 4 ID : 6306802407801
Status : Answered
Chosen Option : 2
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Q.3 ool 921 7 feetl W o auf & SR 2 fpar?
Ans X 1.1320-1414

X 2.1451-1526
X 3.1414 - 1451
o 4.1290 - 1320

Question ID : 630680511634
Option 11D : 6306801999659
Option 2 ID : 6306801999661
Option 3 ID : 6306801999660
Option 4 ID : 6306801999658
Status : Answered
Chosen Option : 1

Q4 ?ﬁaﬁ@aﬁﬁmmaﬁwﬁwmzsﬁ'ﬁawguﬁmﬁwaﬁwm
?

Ans X 1. f6ER
o 2. SR
X 3. g ue
X 4. wrEe vew

Question ID : 630680513786
Option 11D : 6306802007772
Option 2 1D : 6306802007769
Option 3 ID : 6306802007770
Option 4 ID : 6306802007771
Status : Answered
Chosen Option : 2

Qs ;ﬁgﬁﬁwsgaﬁm%ﬁmg@wtﬁw%ma%mwgﬁ%mﬁmu
?

Ans X 1. S sRaTa Sfeger s
X 2. T TH. gdsier et
X 3. = gt IoH e
o 4. T A fearageae

Question ID : 630680407827
Option 1 1D : 6306801590246
Option 2 1D : 6306801590247
Option 3 ID : 6306801590248
Option 4 1D : 6306801590249
Status : Answered
Chosen Option : 3

Q.6 fEfifEa ¥ A f5a ®IM W Sfvr-ufdg aFygA 3 da $t et arar § auf gidt 82

Chosen Option :

Ans X 1. PCIILIES

X 2.9%d

o 3. PIPIAl

X 4. Tursh
Question ID : 630680511048
Option 11D : 6306801997323
Option 2 ID : 6306801997325
Option 3 ID : 6306801997322
Option 4 1D : 6306801997324

Status : Answered

2
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Q.7 YRd ¥ SRU-uf3 A Bt & ygE I S 82
Ans X 1. fossdl UoR TRAT 3R ST 1 Wia! 2T

7 2. 3RS IR TRAT 3R fosacl ToR =

o 3. ST IR RAT SR TS ) |G} TRAT

X 4. RoTerg udd wRaT SR TR P WS! T

Chosen Option :

Question ID : 630680510958
Option 11D : 6306801996964
Option 2 ID : 6306801996963
Option 3 ID : 6306801996962
Option 4 ID : 6306801996965
Status : Answered
Chosen Option : 4
Q.8 fyfafad # & SH-914 a1y 98 2182
i. YR BT 2011 B FTHIUET & TR YR B FA TG 141 BT B
ii. 1911 3R 1921 & d4, URA & T REN F! J &R BoneAs A
i, 1901 31 1951 3 &4, YR B THES B 3ia arfife gfS 1.33% A siftre i g8
Uil
Ans X 1.%adi ofRii
X 2. %ad i 3R ii
X 3. oadi
o 4. Had i 3R ii
Question ID : 630680488238
Option 11D : 6306801907011
Option 2 ID : 6306801907012
Option 3 ID : 6306801907013
Option 4 ID : 6306801907014
Status : Answered
Chosen Option : 4
Q.9 wemral ¥ fore guR o Y MG B AT I et Y FeiiaT SR BT UrE
HAT, TUR HRAH AU & Ufass1ia (enshrined) Hiftre Sdaal &1 gt &
e B B
Ans X 1. Tgal
o 2. T
X 3. T
X 4.3
Question ID : 630680493470
Option 11D : 6306801927619
Option 2 ID : 6306801927620
Option 3 ID : 6306801927621
Option 4 ID : 6306801927622
Status : Answered

1
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Q.10 rar g3t A (Save Narmada Movement) T |
Ans X 1. G TR 3G

o 2. TN Sficter
X 3. 9 Ifad HATT &1 UiREorHT
X 4. PR ugd

Question ID : 630680564468
Option 11D : 6306802206805
Option 2 ID : 6306802206804
Option 3 ID : 6306802206806
Option 4 ID : 6306802206803
Status : Answered
Chosen Option : 2

Q.11 17 fydar 2023 &) FUTH RT IE B TS I i1 T A0 Ia13¢ orasT 37
PRERI & Sita § GUR ST

Ans 1 U uH fayeal
X 2. 0. . Rewm
< 3. ™. . sHdmemn
X 4. TH. Harh

Question ID : 630680411164
Option 11D : 6306801603412
Option 2 1D : 6306801603413
Option 31D : 6306801603414
Option 4 1D : 6306801603415
Status : Answered
Chosen Option : 1

Q.12 3T WieI § T BT UieT ST | URu® 811 U 3MU+ 3T & Uie) T a1 87 &, Xard
I $U ¢ 3R 971 31 arad § fF 3y 39 M | 3= 3T A ds 9dd €1 39 N
&Y 3y forey goft & @A

Ans X 1.9
X 2.9d
X 3.9

4.

Question ID : 630680403058
Option 1 1D : 6306801571801
Option 2 1D : 6306801571802
Option 3 ID : 6306801571803
Option 4 1D : 6306801571804
Status : Answered
Chosen Option : 3
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Q.13 fafifEa ¥ A frg TiaeR & Far » a3 & I7F TReM $ 7T T2 YU RESR 2022

Chosen Option :

TS g2
Ans o 1. 017C WH
X 2. BT Ay
X 3. 7e Rig dgm
< 4. Tfvrere AT
Question ID : 630680701418
Option 1 1D : 6306802747612
Option 2 ID : 6306802747611
Option 3 ID : 6306802747610
Option 4 ID : 6306802747609
Status : Answered
Chosen Option : 2
Q.14 TP &1 DY TP SHEGRT WiAfa §RT R gt @, et sremaran FRI &
EIGIE
Ans X 135Uy
o 2. TUTHAT
X 3. SwIgufd
X 4. em
Question ID : 630680493649
Option 1 ID : 6306801928324
Option 2 ID : 6306801928325
Option 3 ID : 6306801928326
Option 4 ID : 6306801928327
Status : Answered
Chosen Option : 1
Q.15 P BTSN B & &Y W ST 161 3|
Ans . 1. JUBR B
X 2. FmaR
X 3. geh
X 4.3dIg IR
Question ID : 630680402051
Option 1 ID : 6306801567904
Option 2 ID : 6306801567905
Option 3 ID : 6306801567906
Option 4 ID : 6306801567907
Status : Answered
Chosen Option : 3
Q.16 AIHAHT § YT A ST BT fAdae, 2023 foraa o= famar?
Ans  p 1. 81, Sfid= Rig
X 2. MU I
X 3. TRA g
X 4. dgy Tad
Question ID : 630680469598
Option 1 ID : 6306801834155
Option 2 ID : 6306801834156
Option 3 ID : 6306801834157
Option 4 ID : 6306801834158
Status : Not Answered
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Q.17 gy SIRTPTH A THT ATAT P 1T P-91 HIRISFT IwRer 22

Ans 1. gRd ddd
X 2. Argdisitsar
X 3. sy
X 4. R
Question ID : 630680411646
Option 1 1D : 6306801605419
Option 2 ID : 6306801605420
Option 3 ID : 6306801605421
Option 4 ID : 6306801605422
Status : Answered
Chosen Option : 1
Q.18 Ffier |/ garewTa Mad 9y g1 R ¥ ol W U@ qafaT g1
Ans X 1. gfed 9 AR™0T
o 2. UfSa faftears @=
X 3. dfga Hiege Sieht
X 4. ufsd fassiia 3 et
Question ID : 630680701402
Option 11D : 6306802747546
Option 2 ID : 6306802747548
Option 3 ID : 6306802747545
Option 4 ID : 6306802747547
Status : Not Answered
Chosen Option : --
Q.19 3eifie yew faar fasier Rig fFg uRdlg T=a A &2
Ans X 1 Tulld
X 2. e
& 3. 3R
K 4. HERTY
Question ID : 630680435739
Option 1 ID : 6306801700873
Option 2 ID : 6306801700874
Option 3 ID : 6306801700875
Option 4 ID : 6306801700876
Status : Answered
Chosen Option : 3
Q.20 fmfafEe & SR R 32
Ans X 1. P
X 2.5
X 3.7dE
o 4. 9I3HY
Question ID : 630680542129
Option 1 ID : 6306802119459
Option 2 ID : 6306802119460
Option 3 ID : 6306802119458
Option 4 ID : 6306802119457
Status : Answered
Chosen Option : 2
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Q.21 Tiiesil YDV (Golgi apparatus) BT TR B1d 4T 82
Ans X 1. BIRGIT 4T

X 2. fafus e

X 3. U e

o 4. DIR@I IS BT Gers R BT

Question ID : 630680540550
Option 1 ID : 6306802113278
Option 2 ID : 6306802113276
Option 3 ID : 6306802113275
Option 4 ID : 6306802113277
Status : Answered
Chosen Option : 2

Q.22 fafafed # & SH- wffy e $3 & forg Swrerh 6 e sror wifie wdat
FI 9N & T 4291 HauTFE HYE gom?

Ans g 1. ol g 9fafa
X 2. onfee g8 afafa
X 3. g ufhfa
2 4. ST I gty

Question ID : 630680618079
Option 11D : 6306802418621
Option 2 ID : 6306802418622
Option 3 ID : 6306802418623
Option 4 ID : 6306802418624
Status : Answered
Chosen Option : 1

Q.23 3t sTage F WRME & WRRWTS (justify)’ TATSTHE BT IUART 31 & fore Fafafaa
T 3 B T e g2

Ans X 1. THRC I Had SIS 3R S HRAT ©
X 2. TR B HId a3 3R TS HRAT S
o 3. SRS B 918 MR 8, G SR SIS B3l &
X 4. TR PI Yo & ST Sl §

Question ID : 630680571762

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306802235952
6306802235953
6306802235954
6306802235955
Answered

4
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Q.24 3RFgH, WU smifireT ¥ frw Suviy A Tafia 2

Ans X 1. gaTdrer
X 2. fmrer
X 3. HeRmE
o 4. JTARRICT

Question ID : 630680540420
Option 1 ID : 6306802112770
Option 2 ID : 6306802112769
Option 3 ID : 6306802112768
Option 4 ID : 6306802112767
Status : Not Answered
Chosen Option : --

Q.25 fmfafad & d $1-91, T &Y vl aa @hIgeee) 82
Ans X 1. feifte

o 2. PEEEST

X 3.9 d@

X 4. TreiRiEe

Question ID : 630680411618
Option 11D : 6306801605307
Option 2 ID : 6306801605308
Option 3 ID : 6306801605309
Option 4 ID : 6306801605310
Status : Answered
Chosen Option : 3

Q.26 Ta¥Sl & VA A Fel (bishops) B FATET_____ Bl 81
Ans X 1. T®

Xoa

X 3.dH

o 4. 9R

Question ID : 630680430544
Option 1 ID : 6306801680197
Option 2 1D : 6306801680198
Option 31D : 6306801680199
Option 4 1D : 6306801680200
Status : Answered
Chosen Option : 4

Q.27 WdF YR & Ugd fo T=ft &1 =1 SarsT, oAt ufawn 1 sFmaRu Hiag | g
HUST W gRT faran wam A

Ans 1. 3R &. TLH TS
X 2. S T

X 3.3 & pumHER
X 4. Ifees A

Question ID : 630680412664
Option 11D : 6306801609479
Option 2 ID : 6306801609480
Option 3 ID : 6306801609481
Option 4 ID : 6306801609482
Status : Answered
Chosen Option : 3
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Q.28 STt 2023 ® for e femTaer we=n 1 1641 faur wuT sredef g1 WaT?
Ans 1. Hady Rig ger-ar

X 2. 5 I BIGR

X 3. 9 HRGHS

X 4. STRITSIHR

Question ID : 630680804277
Option 11D : 6306803150840
Option 2 ID : 6306803150839
Option 3 ID : 6306803150842
Option 4 ID : 6306803150841
Status : Answered
Chosen Option : 1

Q.29 fAgfifEa # / H1H-11 <A1 JhHvT SR Bwhs! &I gUTfad Hdar 82
Ans X 1. gdfw

o 2. SRR

% 3. nfesfey

X 4. SuqgaeT

Question ID : 630680404156
Option 11D : 6306801576111
Option 2 ID : 6306801576110
Option 3 ID : 6306801576112
Option 4 ID : 6306801576113
Status : Not Answered
Chosen Option : --

Q.30 W a3 &1 51 ©d g3 UT1?
Ans 1. 12 IR 1863

X 2. 12 SFast 1866

7 3. 12 SFaRt 1853

7 4. 12 SFaRt 1859

Question ID : 630680511596
Option 11D : 6306801999508
Option 2 ID : 6306801999509
Option 3 ID : 6306801999506
Option 4 ID : 6306801999507
Status : Answered
Chosen Option : 2

Q.31 Private income minus tax payment minus non-tax payment will give us the estimate for

Ans X 1.gross income
X 2. private income
#< 3. national income

«# 4. personal disposable income

Question ID : 630680512477
Option 1 ID : 6306802002880
Option 2 ID : 6306802002879
Option 3 1D : 6306802002881
Option 4 ID : 6306802002878
Status : Not Answered
Chosen Option : --
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Q.32 SFEIOMT 2011 F SINIR, FHafafae weal @) uRda § S9! ufo=ma wet snardt & a1y
gifera Fifvm)

i) P a) 10.04%
ii) HeH WRT b) 47.72%
iii) TRIEATS c) 27.63%

iv) fewmae wewn d) 48.45%

Ans X 1.0)d, ii)c, ii)b, iv) a

X 2.0)a, i) d, i) c, iv) b
X 3.0) a, ii) b, iii) ¢, iv) d
& 4.0)b, i) c,ii)d, iv)a

Question ID : 630680488637
Option 11D : 6306801908567
Option 2 1D : 6306801908568
Option 3 1D : 6306801908569
Option 4 1D : 6306801908570
Status : Answered
Chosen Option : 4

Q.33 yRd F Ty &1 Fafafaa # @S- sge ifte AReRY & yad= & gfafia
P P UM WS Bl 872

Ans 7 1 3[Fwq 32
X 2. 3 ®¢ 19
X 3. 3¢ 29
X 4. TS 14

Question ID : 630680511439
Option 11D : 6306801998889
Option 2 ID : 6306801998887
Option 3 ID : 6306801998888
Option 4 ID : 6306801998886
Status : Answered
Chosen Option : 4

Q.34 3qy FHTSY F IR ¥ foha= o1 o fh » 98t A @ o v o guw U o a2
Ans X 1. TS ASese

X 2.3 foreq
o 3. TS Saglol
X 4.8 HoH

Question ID : 630680511542
Option 1 1D : 6306801999293
Option 2 1D : 6306801999292
Option 3 ID : 6306801999291
Option 4 1D : 6306801999290
Status : Answered
Chosen Option : 2
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Q.35 gg 9 § % 3R 3 Wifes F! diad I 99 fid & ok 3q FaaH A B ¢a 8, @ 3Mud
Tra-uiferdt & 98 819 R ot a5 98 T8 | SHPT HRUT AT 32

Ans X 1. WIS SafEeia g g1
X 2. @i e 81 B
3. WIS R-SaF g e g |
X 4. @i YR gl 1

Question ID : 630680403334
Option 1 1D : 6306801572845
Option 2 ID : 6306801572846
Option 3 ID : 6306801572847
Option 4 ID : 6306801572848
Status : Answered
Chosen Option : 3

Q.36 fohg SR § SIRTHIT U1y 3T are Il @) =@H & Y Tersa ga 82
Ans X 1.F%H

X 2. "l
o 3. TS
X 4. Rfdaamn

Question ID : 630680411632
Option 11D : 6306801605363
Option 2 ID : 6306801605364
Option 3 1D : 6306801605365
Option 4 1D : 6306801605366
Status : Answered
Chosen Option : 3

Q37 Wmﬁvmmwmﬁumw%ﬁ?ﬂm%aﬁqm&
FRAT 82

Ans X 1. foQ e
X 2. F1fife, A R iR UxF Hrag
o 3. 78 WA
X 4. QTG =19 U4 S{R1RdT Harerd

Question ID : 630680477183
Option 11D : 6306801863901
Option 2 ID : 6306801863902
Option 3 ID : 6306801863903
Option 4 ID : 6306801863904
Status : Not Answered
Chosen Option : --



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.38 Ca @) HUISHAT 2* §1 O B WUIWHaT 2 81 HIRH SATRITSS BT AP IS 7T

FTR?
Ans X 1. Cazoz
o 2. CaO
x 3. Ca02
X 4. CaZO
Question ID : 630680401862
Option 11D : 6306801567218
Option 2 ID : 6306801567219
Option 3 ID : 6306801567220
Option 4 ID : 6306801567221
Status : Answered
Chosen Option : 2
Q.39 3 HUT St WHTY F AYF BT GBI UFT 59114 §, 33 TP A1y FgT T 3|
Ans 1. laiafE
X 2.3
X 3.3q9H
X 4. TERIAS

Question ID : 630680401910
Option 11D : 6306801567389
Option 2 ID : 6306801567387
Option 3 ID : 6306801567386
Option 4 ID : 6306801567388
Status : Answered
Chosen Option : 1

Q.40 In 1800, which of the following experimental achievements was made by William
Nicholson?

Ans X 1.Discovery of thermionic emission
5 2. Discovery of low-cost filters for polarizing light
#< 3. Discovery of electric bulb

«# 4. Discovery of water electrolysis

Question ID : 630680402063
Option 1 1D : 6306801567953
Option 2 1D : 6306801567952
Option 3 ID : 6306801567950
Option 4 ID : 6306801567951
Status : Answered
Chosen Option : 1

Q.41 §e BT S| HIES T 2?2
Ans }(1,?1?1'

o 2.2

X 3.4

X 4.9

Question ID : 630680407778
Option 11D : 6306801590050
Option 2 ID : 6306801590053
Option 3 ID : 6306801590052
Option 4 ID : 6306801590051
Status : Answered
Chosen Option : 2
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Q.42 gfE qYg ad R YHY ATl 8 3R T fRadfHe Reeie) We gadt & ) gg ardt g, ot
TUT: J§ TP UIPHiaed MUGT BT HRUI TN R FaT FHeT A1l 872

Ans X' 1. TEHA
X 2. ahard
o 3. A

X 4. 99

Question ID : 630680546842
Option 11D : 6306802137938
Option 2 ID : 6306802137936
Option 3 ID : 6306802137935
Option 4 ID : 6306802137937
Status : Not Answered
Chosen Option : --

Q.43 fagfafaa & 3 fra &= 3 deawr & Fda oxg vd dar w7 (@<= {das 2023 sk
TPIPpd a¥g Td AT R (W) fadas 2023 o= fmare

Ans o 1. fdder Harmo
X 2.5 Rig
X 3. f9op BT srvan
X 4. TR 91d WeR

Question ID : 630680469607
Option 11D : 6306801834191
Option 2 1D : 6306801834192
Option 31D : 6306801834193
Option 4 1D : 6306801834194
Status : Answered
Chosen Option : 1

Q.44 HIgRPH0T AT UfehaT & T 3l BT SERIA F3 3R I= qur § uRafdd a3 &
fore v A o1 IuT fam imar 32

Ans X 1. 9ifeqH FARe
o 2. QST IS giauss
X 3. difsan wRgS
X 4. Ofsur wiiee

Question ID : 630680403012
Option 11D : 6306801571622
Option 2 1D : 6306801571620
Option 3 ID : 6306801571621
Option 4 ID : 6306801571619
Status : Answered
Chosen Option : 2
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Q.45 faEaR 2021 ® USHIRIG AP 'S AP § CTABIHS IR TSR (‘The Monk Who
Transformed Uttar Pradesh’) ¥ dus Fafafa A A s 82

Ans o 1. i Tadl
X 2. IR R
7 3. TR g
X 4. e Aurdt

Question ID : 630680394949
Option 11D : 6306801540064
Option 2 ID : 6306801540067
Option 3 1D : 6306801540065
Option 4 1D : 6306801540066
Status : Not Answered
Chosen Option : --

Q.46 1930 & ATRYF & HTAR Wi A HiAR WA sfigia= & a1 1 A2
Ans X 1. @l 3fFdG

X 2. T S am

X 3. HETa e

o 4. 31 TR, S H

Question ID : 630680572381
Option 1 ID : 6306802238364
Option 2 ID : 6306802238365
Option 3 ID : 6306802238366
Option 4 ID : 6306802238367
Status : Not Answered
Chosen Option : --

Q.47 5 TfTaT & aTUH UTw $ & e HfeaT # e auHTE & Heds 7E I
fFrafafaa & @ S19-91 4 gern v 82

Ans X 1.253
X 2.313
X 3.293
o 4.273

Question ID : 630680403022
Option 1 1D : 6306801571659
Option 2 ID : 6306801571662
Option 3 1D : 6306801571661
Option 4 ID : 6306801571660
Status : Answered
Chosen Option : 4
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Q.48 frgferfEa d | $19-91 geg Taeh 7T 82

Ans X 1. GpIfEATE
X 2.9
o 3. TSI
X 4. Uyus
Question ID : 630680544738
Option 1 ID : 6306802129715
Option 2 ID : 6306802129716
Option 3 ID : 6306802129717
Option 4 ID : 6306802129714
Status : Answered
Chosen Option : 1
Q.49 YRd WHR & Y&, 9Y Ud THH ITH AT Pt ASPIRE T T WIS Fgfdag 7
22
Ans X 1. 368 oo™
X 2. Mefe TaER
X 3. TgiaRur TRequ
o 4. AZAES oo STRIERM 6% 1 RITTT
Question ID : 630680488098
Option 1 1D : 6306801906451
Option 2 ID : 6306801906452
Option 3 ID : 6306801906453
Option 4 ID : 6306801906454
Status : Answered
Chosen Option : 4
Q.50 frafafEa & @ Tad gm (Raa & iR T=Ta) S ugar S
Ans X 1. ITR UIEH a4 & - SR
7 2. féor oy Yaa &7 - gaat
X 3. cfémrud e Yaa &a-faamagR
o 4. T XA & - DIADdIdl
Question ID : 630680510977
Option 1 1D : 6306801997039
Option 2 ID : 6306801997040
Option 3 ID : 6306801997041
Option 4 ID : 6306801997038
Status : Answered
Chosen Option : 4

Section : General Engineering Mechanical
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Ans

AP AR
X 1. PR emrar & 55%
X 2. P emrar & 45%
X 3. FuiRa emrar & 65%
o 4. RUffa &md & 35%

Q.1 arlﬁ»—fr Jhse & afefr &t gea1 (surging phenomenon) dd ﬁ?ﬂ %, CCERRIGE] YR,

Question ID : 630680506395
Option 11D : 6306801979095
Option 2 ID : 6306801979094
Option 3 1D : 6306801979096
Option 4 1D : 6306801979093
Status : Answered
Chosen Option : 2
Q.2 Name the welding defect in which we observe a long and continuous visual separation
line between the base metal and the heat affected zone.
Ans X 1. Hot cracking
25 2. Undercut
o 3. Lamellar tearing
X 4. Incomplete fusion
Question ID : 630680211307
Option 1 ID : 630680819376
Option 2 ID : 630680819378
Option 3 ID : 630680819375
Option 4 ID : 630680819377
Status : Answered
Chosen Option : 1
Q.3 g e ¥ wey ¥ Fufofad & @ S19-91 539 99 82
Ans 1. 35F 31 a1 H uRad & a1y Ao o1 g wEE g gl
X 2. 5@ o1 & forg 39 U fa & SiftidaR adigar €t S ||
X 3. Yot 3/uTd, 3TUfd fHT 71T TSt & Y Seardl 381 3
X 4. U U301 % BRI SO 1 GerdT 98 Wt 3
Question ID : 630680502681
Option 1 1D : 6306801964306
Option 2 1D : 6306801964307
Option 3 1D : 6306801964308
Option 4 1D : 6306801964309
Status : Not Answered
Chosen Option : --
Q.4 weffras A S i HAgmargl
Ans X 1. RR
X 2.RRaW
o 3. RR oI
X 4. TR 3maaA
Question ID : 630680412680
Option 1 1D : 6306801609546
Option 2 ID : 6306801609544
Option 3 1D : 6306801609545
Option 4 1D : 6306801609543
Status : Answered
Chosen Option : 4
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Q.5 fgfafed § | S=-a1 yhas CCl,F o1 TE Uea 82

Ans X 1.R22
X 2.R12
X 3.R21
o 4R
Question ID : 630680506454
Option 11D : 6306801979332
Option 2 ID : 6306801979330
Option 3 ID : 6306801979331
Option 4 ID : 6306801979329
Status : Answered
Chosen Option : 1

with the refrigerant?
Ans X 1. Short cycling of compressor
4 2. High suction pressure
2< 3. Difficult to maintain temperature of rooms and holds

#< 4. Reduction in the efficiency of the plant

Q.6 Which of the following does NOT indicate that the refrigeration plant has to be charged

Question ID : 630680506410
Option 11D : 6306801979153
Option 2 1D : 6306801979154
Option 3 1D : 6306801979155
Option 4 1D : 6306801979156
Status : Answered
Chosen Option : 3

Q.7 Which of the following options is correct about four-stroke engines when compared
with two-stroke engines?

Ans X 1. Lower volumetric efficiency due to lesser time taken for mixture intake

" 2. Thermal efficiency is higher.

X 3. Light weight and simplicity due to absence of the valve actuating mechanism, with the
initial cost of the engine being low

/X 4. The thermodynamic cycle is completed in two strokes of the piston or in one
revolution of the crankshaft.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680181695
630680704023
630680704024
630680704025
630680704022
Answered

1
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Ans

Q.8 fFyfafEd § A Si9-1 73iiq, Sfea Wi & HYF BT Ieiad HIal 872

X 1. PMM1
o 2. PMM2
X 3. Icpyulla ST g9
X 4. STHHUNT ST S5

Question ID : 630680503256
Option 11D : 6306801966611
Option 2 ID : 6306801966612
Option 3 ID : 6306801966609
Option 4 ID : 6306801966610
Status : Not Answered
Chosen Option : --
Q.9 U wfed surfirdt xy aa & fRya {1 afe sfindt y-sier & Tuged 8, @ o« Fx 39 FA
% fere fFafafEa & @ 19 a1 ez 98 ghme
Ans X 1.YfRxie g
X 2. 2 FE=i® U AR AR
X 3. X Awie uh RR A
o 4. X e I
Question ID : 630680509603
Option 1 1D : 6306801991633
Option 2 ID : 6306801991636
Option 3 ID : 6306801991634
Option 4 ID : 6306801991635
Status : Answered
Chosen Option : 1
Q.10 ;waﬁﬁﬁ@swwﬁz%m%ﬁmmmumummﬁ%ﬁqm
?
Ans X 1 T &€ & T3 IR YaTg BT 3, SAAC IR T &I & FaTg & o &b SRTeR
GG
X 2. SAS W YT S & YdTE TR I90T TRy T D13 YHTd T8l usdr gl
o 3. TTAHM &S & 3fI3edc R Fale 1 a1, $cic IR ITIHM <iS & YaTg o ofl &1 gl #
FAEA I
X 4. TAEH &€ & 3fT3cde IR WaTg &1 o, 3aie IR TaHH IS & UaTg & af &1 gal &
3ffp T B
Question ID : 630680502687
Option 1 1D : 6306801964330
Option 2 ID : 6306801964333
Option 3 ID : 6306801964331
Option 4 ID : 6306801964332
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

Q.1 &7 amphy, BT p-V NG i<l 1
i
‘ Y
= ' \
'S5 3 Gas,
s = ;= Condenser =
= =l § 8
" T ! "
g ;' . Compressor
¥ ‘ Throttle %
ra 3 Evaporator
4 - 1
{Liquid + gas)
Yalume
Pressure = qId
Liquid = dvel
Condenser = TgfaT
Throttle = STAY

Evaporator = i1 El
Liquid + gas = d¥d + biE:)
Volume = 3TIdq

Gas =9

Compressor = JYIfexT

X 1. FerFgIeeR WRfia proret
X 2. fqum u=fta yomedt

o 3. I e y=fia gomeft
X 4. AT SARIOT YRt oIl

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680332164
6306801292103
6306801292104
6306801292101
6306801292102
Not Answered

Q.12 The heat transfer during constant pressure heating of a gas in a cylinder containing a
sliding piston is equal to

Ans X 1.the change in internal energy
4 2. the change in enthalpy
X 3. zero

/5 4. the work done by the piston

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680503275
6306801966685
6306801966686
6306801966688
6306801966687
Answered

4

Google Play
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Ans

e 3 @ S1H-1 $Y= 8 872
% 1. $oF, SHNAH! & Ted FTH BT Ioerd Bl g
o 2. 59, Bed Wb P HYF BT Icaid- Bl g
X 3. SO, FARITY DU BT Iy BT 2

Q.13 TP Tsh 1Y HOAT S51, 100°C AT HSR | 40 kJ HEAT AdT 2| TfS TE 40 kJ BT ST €,

X 4. 394, SHMAS! & A FaH & WIY-T1Y Hiedw Wb & HUF BT Icerd- Bl g

Chosen Option :

Question ID : 630680503257
Option 11D : 6306801966613
Option 2 ID : 6306801966614
Option 3 ID : 6306801966615
Option 4 ID : 6306801966616
Status : Answered
Chosen Option : 4
Q.14 Which of the following is NOT a frequent pattern-making process in manufacturing?
Ans 1. Welding pattern
X 2. Match plate pattern
/5 3. Sweep pattern
X 4. Investment pattern
Question ID : 630680503200
Option 1 1D : 6306801966388
Option 2 ID : 6306801966386
Option 3 ID : 6306801966385
Option 4 ID : 6306801966387
Status : Answered
Chosen Option : 1
Q.15 2aTe $I W9 geran fFy § I frud gr1 & W 82
Ans X 1. G G&AT = SAIT G&fdl / i gar
o 2. gAY G&(T = Sd1Y GafdT x FiiAd Gafd
X 3. 9HY T&fdT = i qefdi? / Sdig Gafdr2
X 4. 0T el = TifAeh G / Sdid gefdm
Question ID : 630680508612
Option 1 ID : 6306801987748
Option 2 ID : 6306801987751
Option 3 ID : 6306801987750
Option 4 ID : 6306801987749
Status : Answered
Chosen Option : 1
Q.16 IR-WEIF Sod 39 & TaY N, qTed AT ARG BY ¥ e A sgea farar ST B
Ans X 1.TDC 3iR BDC & Tsy ¥ foe &t Qe Ty
7 2. %dd TDC & Fa¢y & dled P! Tiem 3R si¢ B H T arel 97T
7< 3. TDC 3iR BDC & T&'¢/ & dTed I WieH 3R sig - § o a1dt 9g
o 4. T & GeH 3R §G BF & TG e 10T B FSIM
Question ID : 630680502711
Option 1 1D : 6306801964429
Option 2 ID : 6306801964427
Option 3 ID : 6306801964426
Option 4 ID : 6306801964428
Status : Answered

1
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Q.17 %IEI [T oIl (mist lubrication system) &T JUANT 319 R TR - ¥ ferg fomar wmar
|

Ans X 1. 79 %9 (gas engine)
o 2. a‘r@a?awsvm (two stroke cycle engine)
X 3. EI'R-W b $9 (four stroke cycle engine)
X 4.9 =M 9 SO (air refrigeration cycle engine)

Question ID : 630680502667
Option 11D : 6306801964253
Option 2 ID : 6306801964251
Option 3 1D : 6306801964250
Option 4 1D : 6306801964252
Status : Answered
Chosen Option : 4

Q.18 What will be the value of the axial thrust on a wheel when there is no blade friction?
Ans 1. Zero

& 2. Maximum
/< 3. Equal to the tangential force on the blade
< 4. Minimum

Question ID : 630680502690
Option 11D : 6306801964344
Option 2 ID : 6306801964342
Option 3 ID : 6306801964345
Option 4 ID : 6306801964343
Status : Answered
Chosen Option : 3

Q.19 fAmfiafEa & A HH-91 YEHTTT 5d (Newtonian fluid) BT IST80T 61 872
Ans 1 U o1 @rel

X 2. FAA
X 3.9

X 4.9

Question ID : 630680199007
Option 1 ID : 630680771758
Option 2 ID : 630680771757
Option 3 ID : 630680771755
Option 4 ID : 630680771756
Status : Answered
Chosen Option : 4

Q.20 fop=f} eIk # 99 U (Isochronism) ABAE, 1|
Ans X 1. $9 S 91 8 @I §eT @

X 2. <5H B 91 R G gi 8

3. & T (load) & d8d Ueb AT aifed gidl &

X 4. 35 Id 1 TR HIA BT 8

Question ID : 630680502673
Option 11D : 6306801964276
Option 2 1D : 6306801964274
Option 3 ID : 6306801964277
Option 4 1D : 6306801964275
Status : Answered
Chosen Option : 4
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Q.21 In actual air-conditioning applications, the heat rejection factor depends upon the:
Ans X 1.rate of flow

X 2. condenser temperature
< 3. evaporator temperature

" 4. evaporator and condenser temperatures

Question ID : 630680506427
Option 11D : 6306801979223
Option 2 1D : 6306801979221
Option 3 ID : 6306801979222
Option 4 1D : 6306801979224
Status : Answered
Chosen Option : 4

Q.22 Which of the following is the assumption of Air Standard Cycles?

Ans X 1.Heatis assumed to be supplied from chemical reactions during the cycle
¥ 2. Some heat is assumed to be rejected to a constant low temperature sink
/5 3. The working medium is assumed to be a real gas

X 4. The working medium has variable specific heat with varying temperature

Question ID : 630680502664
Option 11D : 6306801964239
Option 2 ID : 6306801964241
Option 31D : 6306801964238
Option 4 ID : 6306801964240
Status : Not Answered
Chosen Option : --

Q.23 99 59 T g19, FARUST T 319 A SUR AT AT 3, o /197 7491 g1 FEUH
ST ST 81

Ans 1 RO S
X 2. vErdt g
X 3. agHsdd a|
X 4. Fafa e

Question ID : 630680193056
Option 1 ID : 630680748762
Option 2 ID : 630680748763
Option 3 ID : 630680748761
Option 4 ID : 630680748764
Status : Answered
Chosen Option : 2
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Q.24 100 mm A 3R 1.0 m TS F 319 AU gRT TG YdHa T myut iR Sifman
FATYYl F} AT B | W AT fF rad=T Hior 20 3R TEar AIUIF, G = 80 GPa gl

AnS X 1. 8.675 x 10° mm?®, 45.500 kN - m
X 2. 10.654 x 10° mm*, 23.525 kN - m
X 37982 x10°mm* 31.542kN-m

¥4 9.817 x 10° mm?, 27.409 kN - m

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Status

Option 4 ID :

Chosen Option :

: 630680205982
: 630680798731
: 630680798734
: 630680798732
630680798733
: Not Answered

Q.25 Total gradient line (or total energy line) is parallel to hydraulic gradient line with a
vertical distance of . (The symbols have their usual meanings.)

Ans
1 ‘Vz
w1 —
2g
x2 &
W
p
<3 (—) +Z
W
2
P v
X 4. (—) b
w. 2g
Question ID : 630680198989
Option 11D : 630680771685
Option 2 ID : 630680771683
Option 3 ID : 630680771684
Option 4 ID : 630680771686
Status : Answered
Chosen Option : 1
Q.26 Which of the following factors is taken into consideration when determining the
maximum suction height of a centrifugal pump?
Ans 1. Cavitation
X 2. Mechanical efficiency
#< 3. Priming
X 4. Manometric efficiency
Question ID : 630680193035
Option 11D : 630680748678
Option 2 ID : 630680748680
Option 3 ID : 630680748677
Option 4 ID : 630680748679
Status : Answered
Chosen Option : 4
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Ans

#< 1. The no slip condition can be defined for viscous flows.

Q.27 Which of the following statements is INCORRECT about no slip boundary condition?

< 2. In case of the no slip boundary condition at a fixed solid boundary, the fluid will have

zero velocity.

«” 3. In case of the no slip boundary condition at a fixed solid boundary, the fluid will have

some velocity relative to the boundary.

2< 4. During no slip condition the fluid velocity at all fluid—solid boundaries is equal to that

of the solid boundary.

Question ID : 630680199006
Option 11D : 630680771754
Option 2 ID : 630680771753
Option 3 ID : 630680771752
Option 4 ID : 630680771751
Status : Answered
Chosen Option : 1
Q.28 Which of the following statements is true about an Sl engine in comparison to a Cl
engine?
Ans X 1.The air-fuel ratio is high.
" 2. The operating speed is very high.
25 3. The cost of running is comparatively low.
X 4. The compression ratio is comparatively high.
Question ID : 630680502709
Option 11D : 6306801964418
Option 2 ID : 6306801964420
Option 3 ID : 6306801964421
Option 4 ID : 6306801964419
Status : Not Answered
Chosen Option : --
Q.29 Which of the following statements is true about the fuel feed pump used for diesel
engines?
Ans X 1.ltis a centrifugal type pump.
/& 2. The plunger of the fuel feed pump is actuated by the governor.
«” 3. Itis a spring-loaded, plunger type reciprocating pump.
< 4. When the plunger of the feed pump is lifted upwards, the inlet valve remains open.
Therefore, it is not suitable to inject fuel at that time.
Question ID : 630680502732
Option 1 ID : 6306801964510
Option 2 ID : 6306801964511
Option 3 ID : 6306801964512
Option 4 ID : 6306801964513
Status : Answered
Chosen Option : 4
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Ans

in the refrigeration industry?
25 1. Polyol ester oil

4" 2. Alkylbenzenes oil
#< 3. Mineral oil

X 4. Poly alkylene glycol oil

Q.30 Which of the following refrigeration lubricants were the first synthetic oils to be used

Chosen Option :

Question ID : 630680506418
Option 11D : 6306801979187
Option 2 ID : 6306801979186
Option 3 ID : 6306801979185
Option 4 ID : 6306801979188
Status : Answered
Chosen Option : 4
Q.31 BT T & T 0.21% BT Ufa=Id a1 81 BT TIa BT THIIT TR
H
Ans X 1. W09 WId
X 2. qH Bred ©id
o 3. Jg ©id
X 4. T <a
Question ID : 630680191553
Option 1 ID : 630680742836
Option 2 ID : 630680742834
Option 3 ID : 630680742835
Option 4 ID : 630680742833
Status : Answered
Chosen Option : 1
Q.32 The fluid that becomes less viscous as it is sheared harder is called
Ans X 1. thixotropic fluid
< 2. Newtonian fluid
X 3. dilatant fluid
¥ 4. pseudo-plastic fluid
Question ID : 630680508720
Option 11D : 6306801988180
Option 2 ID : 6306801988183
Option 3 ID : 6306801988181
Option 4 ID : 6306801988182
Status : Not Answered
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Ans

SR, Lol

X 1. 3Udel TGP (centrifugal casting)
o 2. Fa% ITFA (investment casting)
2 3. 91 YD (sand casting)

X 4. STS TP (die casting)

Q.33 P UHH RraH I &1 791 F e RRfe a ifen ara wiw te o1 suan fear

Chosen Option :

Question ID : 630680503204
Option 11D : 6306801966404
Option 2 1D : 6306801966402
Option 3 ID : 6306801966401
Option 4 1D : 6306801966403
Status : Answered
Chosen Option : 4
Q.34 25 mm A ¥ TS f§a fe B & 1 (cutting speed) 15.7 m/min 81 f$a &) gl ara
(speed of rotation) f&a=t ghift?
Ans X 1.400 RPM
" 2. 200 RPM
5 3.500 RPM
X 4.314RPM
Question ID : 630680503251
Option 11D : 6306801966589
Option 2 ID : 6306801966590
Option 3 ID : 6306801966591
Option 4 1D : 6306801966592
Status : Not Answered
Chosen Option : --
Q.35 The manometric head of a centrifugal pump is independent of which of the following
factors?
Ans X 1.Loss of head in impeller and casing
Z< 2. Frictional head loss in suction pipe
25 3. Frictional head loss in delivery pipe
«# 4. Frictional losses in bearings
Question ID : 630680198966
Option 1 1D : 630680771591
Option 2 ID : 630680771592
Option 3 ID : 630680771594
Option 4 ID : 630680771593
Status : Not Answered
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Ans
surface.

vertically immersed surface.

Q.36 Which of the following statements is correct about the location of centre of pressure?
5 1. Centre of pressure coincides with the centre of gravity of the vertically immersed

/5 2. Centre of pressure lies above the centre of gravity of the vertically immersed surface.

/X 3. Centre of pressure may lie at any location irrespective of the centre of gravity of the

" 4. Centre of pressure lies below the centre of gravity of the vertically immersed surface.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680199002
630680771737
630680771736
630680771738
630680771735
Not Answered

Pat &, AN ITA FAE A TERTE W RAGIE__ gr e
¢ 1 Pemge = pgh

X 2. Pgayee = Pamn + pgh

X 3. Pzauge = Pam

Ans

x 4. Pgauge = Patm o Pgh

Q.37 afg B¢ fiig A argHed ) god Fag W R a1 911 8, i are agHsy g

Question ID : 630680508737
Option 11D : 6306801988248
Option 2 ID : 6306801988249
Option 3 ID : 6306801988250
Option 4 ID : 6306801988251
Status : Answered
Chosen Option : 2
Q.38 Which of the following statements best describes the second law of thermodynamics
in relation to cyclic heat and work processes?
Ans X 1.In a cyclic process, the net heat transfer is always greater than the net work done.
" 2. In a cyclic process, the net work output can be equal to, greater than or less than the
net heat input, depending on the efficiency of the process.

X 3. In a cyclic process, the net heat transfer is equal to the net work done.

75 4. In a cyclic process, the net heat transfer is always less than the net work done.
Question ID : 630680503230
Option 11D : 6306801966506
Option 2 ID : 6306801966508
Option 3 ID : 6306801966505
Option 4 1D : 6306801966507

Status : Answered
Chosen Option : 4
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Q.39 Which of the following evaporators are used for refrigeration units of 2 to 250 TR
capacity?

Ans  «# 1. Dry expansion shell and tube evaporators
< 2. Plate evaporators
X 3. Flooded shell and tube evaporators

75 4. Shell and coil evaporators

Question ID : 630680506419
Option 11D : 6306801979192
Option 2 ID : 6306801979191
Option 3 ID : 6306801979189
Option 4 ID : 6306801979190
Status : Not Answered
Chosen Option : --

Q.40 In the porter governor, the main constituent of controlling force is:
Ans X 1. friction force

" 2. mass of sleeve
/5 3. spring force
< 4. mass of flyball

Question ID : 630680509132
Option 1 1D : 6306801989824
Option 2 ID : 6306801989826
Option 3 1D : 6306801989823
Option 4 ID : 6306801989825
Status : Not Answered
Chosen Option : --

Q.41 gu%ur{ﬁ%mmﬁuﬁﬁum%m,w@sﬁwmm
|

Ans 13T
X 2. AHE
X 3.9
X 4. RaddD

Question ID : 630680193038
Option 1 ID : 630680748689
Option 2 ID : 630680748691
Option 3 ID : 630680748692
Option 4 ID : 630680748690
Status : Answered
Chosen Option : 2
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Q.42 gfe T 3R Bwie F 1T ATYIS U 14.5 § 3R Heple W WY Ufaad 2.5 MPa §, at
yaferd bl WAl & Wid gt A IR ufaaa &1 FufRor a3

Ans X 1.30.25 MPa

o 2. 36.25 MPa

X 3.42.75 MPa

< 4.24.50 MPa
Question ID : 630680327982
Option 1 ID : 6306801275900
Option 2 ID : 6306801275897
Option 3 ID : 6306801275899
Option 4 ID : 6306801275898
Status : Answered
Chosen Option : 3
Q.43 frgffaa A | H9-a1 WRIg 7= T WR1e (@fm) TR 78 82
Ans X 1. BRI (Facing)
X 2. 97T (Grooving)
« 3. 9157 (Sawing)
X 4. 9f&T (Threading)
Question ID : 630680503220
Option 1 ID : 6306801966465
Option 2 ID : 6306801966468
Option 3 ID : 6306801966467
Option 4 ID : 6306801966466
Status : Answered
Chosen Option : 3
Q.44 59 ¥} Gad TqE & 19 F Hg BT g A T gt 31
Ans X 1.%ga@ g0l
X 2. gt &awa
X 3.%d 3 g I8 U C.G. B gl
o 4. 50D T
Question ID : 630680508637
Option 1 1D : 6306801987848
Option 2 ID : 6306801987849
Option 3 ID : 6306801987851
Option 4 ID : 6306801987850
Status : Answered
Chosen Option : 4
Q.45 fge Ts fi e TafT (hit and miss governing) ¥ IR # Frafed # & 1-a1 By ¥ 82
Ans X 1. AT B 39 Ui B, o & g0 & aRF H18 Y T FfSRT (idle) TEY 1T =1iRTl
X 2. 389 IO P < dga B
X 3.78 4R} IC 3SR SOl & forT U Jugad A+ ugfa B
o 4. TaHT BT 39 Ugla & o W R & Sifid aoH &1 sraawd gl 8
Question ID : 630680502674
Option 11D : 6306801964281
Option 2 ID : 6306801964279
Option 3 ID : 6306801964278
Option 4 ID : 6306801964280
Status : Not Answered
Chosen Option : --
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Q.46 9 FIg fis, g fis Ft Tag W rae= = wvar § d@ @ arar siftreay oo a9

Chosen Option :

FeamT gl
Ans X 1. Qs T8
2 2. Tt Tefor
o 3. did guo
X 4. faw aefor
Question ID : 630680394585
Option 11D : 6306801538628
Option 2 ID : 6306801538626
Option 3 1D : 6306801538629
Option 4 ID : 6306801538627
Status : Answered
Chosen Option : 4
Q.47 gTIEAT G- (Hartnell governor) ®, afe 3iftre Jeg BT &1 IugT f5am wiren 8, &) Ta-R
. ®m
Ans X 1. 3ifire gl
X 2. qH®IcS
o 3. DU YIS
XK 4. et
Question ID : 630680335145
Option 1 1D : 6306801303797
Option 2 1D : 6306801303799
Option 3 1D : 6306801303798
Option 4 1D : 6306801303800
Status : Not Answered
Chosen Option : --
Q.48 FHEaTIfaw®! ST Yyal 1| P TYRON W e g1
Ans X 1. Tl
2 2.3 4T
X 3. T
o 4. dIUHH
Question ID : 630680503210
Option 1 1D : 6306801966426
Option 2 1D : 6306801966425
Option 3 1D : 6306801966428
Option 4 1D : 6306801966427
Status : Answered
Chosen Option : 3
Q.49 The casting process that employs a permanent metal or ceramic mould, is
Ans 4 1.die casting
X 2. investment casting
X 3. centrifugal casting
< 4. sand casting
Question ID : 630680503205
Option 1 1D : 6306801966407
Option 2 1D : 6306801966406
Option 3 1D : 6306801966408
Option 4 1D : 6306801966405
Status : Answered

1
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Q.50 WSS T (halide torch) T HTd &7 EaT 872
Ans X 1. =dA® Hedl BI SIHIRCT (defrosting)

X 2. ATpoRCT H S8R WS DI G ST
o 3. TRIa® & R &1 et e
X 4. a9 U=itas &1 Sifaar

Question ID : 630680506409
Option 1 1D : 6306801979149
Option 2 ID : 6306801979151
Option 3 1D : 6306801979152
Option 4 ID : 6306801979150
Status : Answered
Chosen Option : 3
Q.51 T Jgd P/ 3 UhH aTd U T | oiRdl ¢ | WhH 1-2 Th JHaTd TR 8 Safe wed
2-1 T gl Tdts g1 Swmifae! & wuw fAaw & 3aR, 39 9% & fig
Frafafea & 9 $19-a1 737 9@ 82
Ans X 1.ThH 1-2 B SR SWT R0 LA B
o 2. UPH 2-1 B SR ST IR0 LA B
X 3. U 2-1 & SR fobar T B YA B
X 4.9 1-2 & SR fobar T S Y B
Question ID : 630680503235
Option 11D : 6306801966527
Option 2 ID : 6306801966528
Option 3 ID : 6306801966526
Option 4 ID : 6306801966525
Status : Answered
Chosen Option : 1
Q.52 Which of the following is NOT a part of a bucket type steam trap?
Ans X 1. Guide tube
< 2. Spiral vane
" 3. Injector
X 4. Float
Question ID : 630680502654
Option 11D : 6306801964199
Option 2 ID : 6306801964200
Option 3 ID : 6306801964201
Option 4 ID : 6306801964198
Status : Answered
Chosen Option : 3
Q.53 Which part of the arc welding element/equipment is consumable?
Ans X 1. Electrical cables
X 2. Electrode holder
" 3. Electrode
< 4. AC/DC transformer
Question ID : 630680205050
Option 11D : 630680795063
Option 2 ID : 630680795065
Option 3 ID : 630680795066
Option 4 ID : 630680795064
Status : Answered
Chosen Option : 3
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Q.54 fagferfaa A & e & & JuRafofT (supercharging) 3a+t Agayuf 7 g1t 82
Ans X 1. IR PR (Racing cars)
o 2. WW (Domestic bikes)
X 3. FE SR R T B d1d o
X 4. g 3R SHTEmfed $oi Sgt aoi 3R SicRTel Ayl gid §
Question ID : 630680502665
Option 1 ID : 6306801964244
Option 2 ID : 6306801964245
Option 3 ID : 6306801964243
Option 4 ID : 6306801964242
Status : Answered
Chosen Option : 1
Q.55 3y1e=f 1Y BT TS THAT4 | ¥ 2 | F A 9@ GHaTd & F Thifesa far srar 81 afe
URTH® 319 2 atm ©, T 3ifew o9 Fa1 ghM?
Ans X 1.2atm
o 2.4 atm
X 3.1atm
X 4.8 atm
Question ID : 630680503215
Option 1 ID : 6306801966446
Option 2 ID : 6306801966447
Option 3 ID : 6306801966445
Option 4 ID : 6306801966448
Status : Answered
Chosen Option : 2
Q.56 FHYAH eaET 1 TP IaTeV 3
Ans X 1. TR YaTs cREEA
X 2. 3R vaTg TRaRA
o 3. 31l UaTg XETe
X 4. f¥q-garg e
Question ID : 630680193067
Option 1 ID : 630680748805
Option 2 ID : 630680748808
Option 3 ID : 630680748807
Option 4 ID : 630680748806
Status : Not Answered
Chosen Option : --
Q.57 et fafe wxi= & sifvafia s & Wit ahdig &t BT ITUNT HIb A1
faferT w=ii9 aa R a1 ST 21
Ans X 1. V-seilchl
X 2. T wel
o 3. T-dleT 3R Faar
X 4. Rgdaasy
Question ID : 630680205087
Option 11D : 630680795213
Option 2 ID : 630680795211
Option 3 ID : 630680795212
Option 4 ID : 630680795214
Status : Answered
Chosen Option : 3
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Q58 2 hy 3K h, FHET: ST 3R BT W e ¥ sk ¢, sk G,
FHAA: T 3R H13eole 391 &, ar HF A & e Fafe@a 7 &
FheaT T, T (22— hy b, ) & e H e 37

Ans X 1. GHIEHRO T Aivd $ e fRR vaTg SHoit g g1
X 2. ¥ A gR1 BIS i Rt T8 fohar S 3
o 3. TR0 B Wi era # aor g1t W faar far S gl
X 4. W Ao § UaTe S g g |

Question ID : 630680502641
Option 1 ID : 6306801964146
Option 2 ID : 6306801964148
Option 3 1D : 6306801964149
Option 4 ID : 6306801964147
Status : Not Answered
Chosen Option : --

Q.59 Fafifed & § #1771 e e 99 $ Rr ad 32
ST, a 3R g = U aiH IR e ) MgE s BT §
© 3R ¢ = HUR: A R e W’ waw Fior g

Ans X 1.0=0°3R¢$=0°
o 2.0=0"3RO=0°
X 3.p=0°3R¢p=0°
X 4.a=0°3RB=0°

Question ID : 630680508732
Option 1 1D : 6306801988228
Option 2 1D : 6306801988231
Option 3 1D : 6306801988229
Option 4 1D : 6306801988230
Status : Not Answered
Chosen Option : --

Q.60 S S (compressor) 3N AR T &l AT TR HHTferd Bd @ 3NR U JTAT STaRo
(common casing) A 9 84 &, a1 S& & =7 § &1 S 2

Ans o 1. 3% s HUR (hermetic sealed compressors)
X 2. TN HUTR (reciprocating compressors)
X 3. 3B ot HUW (centrifugal compressors)
X 4. 31&ftg HUIR (axial compressors)

Question ID : 630680506440
Option 1 1D : 6306801979275
Option 2 ID : 6306801979273
Option 3 ID : 6306801979274
Option 4 ID : 6306801979276
Status : Answered
Chosen Option : 2
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Q.61 TP FrgeR Uer H, ufa 6 I1aeR B 2250 kg 5d B MY B ot g1 TP S F qIg
TR | A BT FHH YRYH P STHTH & 250 kg HH AT 14T 8 | Ufd 6 250 kg HHIam
STATAT STl @ | 919eR | Ufd kg S99 & o4 IR aRaia® arsiieor e gim?

Ans X 1.2500 kg
o 2. 10kg
X 3.250 kg
X 4.8kg

Question ID : 630680502645
Option 11D : 6306801964165
Option 2 ID : 6306801964163
Option 3 ID : 6306801964164
Option 4 ID : 6306801964162
Status : Answered
Chosen Option : 4

Q.62 The mass transfer process in an open system is commonly modelled using the
equation.

Ans X 1. third law of thermodynamics
X 2. second law of thermodynamics
X 3. zeroth law of thermodynamics

4 4. mass balance

Question ID : 630680503178
Option 11D : 6306801966299
Option 2 ID : 6306801966298
Option 3 1D : 6306801966297
Option 4 ID : 6306801966300
Status : Answered
Chosen Option : 4

Q.63 fohd) S5 BI 9 UTaR B Y P STTAHIHICT BT START HIP AT Sl Ghdl & | TE
Frafafea 3 A 59 sivie gr1 faar a1 82(98t, ‘D' 9% S &1 39 ; 'W' UR (weight) @
Gﬁ?'S'@‘TWa%’T%,'N‘ rpmﬁ:iﬂﬂ'%)

Ans X 1.DN (W +S)

X 2. DN (W +S)
X 3.DN (W - S)

& 4. TDN (W - S)

Question ID : 630680386536
Option 11D : 6306801506857
Option 2 ID : 6306801506854
Option 3 1D : 6306801506856
Option 4 1D : 6306801506855
Status : Answered
Chosen Option : 2
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Q.64 ?ﬁﬁ@aﬁﬁﬁmhﬁmmmﬁaﬁwﬁmﬁvﬂ%ﬂﬁm%mm
?

Ans X 1. RIS 3R H,
X 2. sffefieH @ik co,
o 3. RS 3R TRife
X 4. SATRASH SR ATgIoH

Question ID : 630680503272
Option 11D : 6306801966675
Option 2 ID : 6306801966674
Option 3 ID : 6306801966673
Option 4 ID : 6306801966676
Status : Answered
Chosen Option : 3

Q.65 Which of the following is NOT the application for steam in industry?
Ans X 1. Humidification

¥ 2. De-atomisation
/< 3. Heating
< 4. Propulsion

Question ID : 630680348139
Option 1 1D : 6306801354847
Option 2 1D : 6306801354848
Option 3 ID : 6306801354845
Option 4 1D : 6306801354846
Status : Answered
Chosen Option : 1

Q.66 For measurement of dryness fraction of steam, use of a separating calorimeter is
suitable

Ans X 1. for any condition of steam
/5 2. when dryness fraction is greater than 1
X 3. when dryness fraction is greater than 0.95

" 4. when dryness fraction is less than 0.95

Question ID : 630680502761
Option 11D : 6306801964628
Option 2 ID : 6306801964629
Option 3 ID : 6306801964626
Option 4 ID : 6306801964627
Status : Answered
Chosen Option : 4
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Q.67 gidt it fadiyarsit & Wy & FafifEd & / $H-91 Fu7 w1 32

1) U8 99 Tl & od SHSAT Pt 3ATYfed B W1t |, A & qrewr # uRada Y ar A g
2) 98 a9 Ucdl § 519 ST geTs el g, uﬁé’rmﬁuﬁaﬂqamqﬁl
3) g Wt e ooy 3R wepHl o srufvafea we<dt 81

4)mmmmmmwaﬁwsﬂﬁq®ﬁ?ﬁ% S fop uteferT upa #

gar gl
Ans X 1. Had2, 334
& 2.1,2,33R4
X 3.%ad 1,233
X 4.Fad1,33R4
Question ID : 630680395246
Option 1 ID : 6306801541193
Option 2 ID : 6306801541195
Option 3 ID : 6306801541192
Option 4 ID : 6306801541194
Status : Answered
Chosen Option : 3
Q.68 When pressure is measured above the atmospheric pressure, it is termed as:
Ans X 1.absolute pressure
/< 2. stagnation pressure
25 3. vacuum pressure
«# 4. gauge pressure
Question ID : 630680508636
Option 1 ID : 6306801987844
Option 2 1D : 6306801987847
Option 3 ID : 6306801987845
Option 4 ID : 6306801987846
Status : Answered
Chosen Option : 1
Q.69 7fg gTggifere Tafs &1 M (UTaR) SMTITYS 100 kW § 3R THT T&IdT 50% ¢, ot aaig
F gdC W MY B A arelt fad (UfaR) 1 ghi?
Ans X 1.50 kW
X 2.150 kW
/X 3.250 kW
" 4.200 kKW
Question ID : 630680508632
Option 1 1D : 6306801987828
Option 2 ID : 6306801987829
Option 3 ID : 6306801987831
Option 4 ID : 6306801987830
Status : Answered
Chosen Option : 4
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(entropy), & qHH T;ﬂ?ﬁ %I
2 1. 9O & 3id & TSIt (entropy)
o 2. AHEHRU1 3 3fd T YS! (entropy)
X 3. U8R & oid # TSI (entropy)

X 4. UOR & YHaH1d H T (entropy)

Ans

Q.70 Y[eep A ATy & /Y Ty HhtsT yita @b H, Afe & are, HdteT & i # TSt

Question ID

Option 2 ID

Option 4 ID

: 630680506398
Option 11D :

6306801979105

: 6306801979107
Option 31D :

6306801979106

: 6306801979108
Status :
Chosen Option :

Not Answered

Q.71 wifg exarg Frafifaa 3§ @ ferg iR & wefera gar @2
X 1. 3= i ok & farsi

X 2. 3= 2 oik 3= oo
o 3. 7 =Y SR Ao fagst
X 4. 30 2 R I fawei

Ans

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status

630680193066
630680748801
630680748804

: 630680748802
Option 4 1D :

630680748803

: Answered
Chosen Option :

1

Q.72 gfg %g & FHS (cohesion) T HfUP RIS (adhesion) B A FIT T8l gRI?
o 1.5 dg U BIc AN $i Acll § A1 BT 3R SHdael gri|

X 2. 90% & fig W 59 W I

X 3. %d TP 319 g &I el HR S|

X 4. B T DI el H YUS BT 90° J HH I

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

630680198993
630680771701
630680771700
630680771699
630680771702
Not Answered
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Q.73 f3f & el Frafafee & @ sH-a s w82

Ans

far Srar g1
H
=

forar ST 31

o 1. 3T v Teft it B oo adhdia & ¢ =7 & forw v goff Sues=or o7 SuiT
X 2. fafe ue Ui vfgran § s foreht addia & &5 o & forg g4is &1 IuanT {3 Sirar
X 3. fafer ue T vfgran & o foreht adbdia & 8¢ o= & forg ot &1 IuanT fara Siran

X 4. Tefei v U wferan ¢ ol 9o & 8¢ 37 & R U Sreguil Suaur &1 Iua

Question ID :

Option 1 ID

Option 3 ID

Status

630680503223

: 6306801966477
Option 2 ID :

6306801966480

: 6306801966479
Option 4 ID :

6306801966478

: Answered
Chosen Option :

1

Fgard @
<1 SffRaaR® uhd (hyperbolic process)

X 2. 9g<fRIF UHHA (Polytropic process)
o 3. SN UHH (throttling process)
X< 4. Hdd UUR UshH (free expansion process)

Ans

Q.74 g5 ypd R T Haivl Tga- | I 319 arad vt verd &1 urie faan sirar 2, &
?

Question ID :

Option 1 ID

630680348148

: 6306801354882
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801354881
6306801354884
6306801354883
Answered

3

Q.75 In the process of brazing, the filler metal is drawn into the joint by means of
Ans X 1. Low viscosity
#< 2. High diffusion
< 3. Surface tension

« 4. Capillary action

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680205053
630680795077
630680795078
630680795075
630680795076
Not Answered
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Q.76 fomfafEd & Q $19-91 RR1E (A5 1 0P TR T8 82
Ans g 1. IT IR (Straight sawing)
X 2. 9% R IS (Circular sawing)
7 3. 5 I (Band sawing)
X 4. WIS (Hack sawing)
Question ID : 630680503248
Option 11D : 6306801966579
Option 2 1D : 6306801966580
Option 3 1D : 6306801966578
Option 4 1D : 6306801966577
Status : Answered
Chosen Option : 4
Q.77 | oAl & T Yot wsae o7 §, Tra § 9fg & 9y,
Ans X 1. I IS Ted sgal § IR by RR 81 wman 3
X 2. T diees! §¢ ST €
o 3. T diees IR o 8
7 4. T e JHH TgaT 8
Question ID : 630680502730
Option 1 1D : 6306801964505
Option 2 1D : 6306801964502
Option 3 1D : 6306801964503
Option 4 1D : 6306801964504
Status : Answered
Chosen Option : 1
Q.78 Variation of power input with speed at constant discharge in case of a centrifugal
pump is
Ans 4 1. cubic
/5 2. parabolic
/X 3. linear
< 4. logarithmic
Question ID : 630680198968
Option 1 1D : 630680771601
Option 2 ID : 630680771600
Option 3 ID : 630680771599
Option 4 ID : 630680771602
Status : Not Answered
Chosen Option : --
Q.79 Tfg N, RPM & Htfifes &) nifar @, oY fg fopa Idifes (double acting compressor) & i@
H’H‘Qﬂ’lﬁﬂ? wfed (isentropic power) HIT 'tﬁ'l'ﬁ Gl'aﬁl?f g %
Ans X 1.WN/2
W 2. 2WN/60
X 3. WN/60
X 4. WN
Question ID : 630680506433
Option 11D : 6306801979248
Option 2 ID : 6306801979247
Option 3 1D : 6306801979246
Option 4 1D : 6306801979245
Status : Not Answered
Chosen Option : --
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Q.80 [ grd Rigia &t Ara g¢, afur & =fad g1 1 gft, 919 100 mm NI &1 TS @aad

AT 150 r.p.m. W THAT 8 | S THAA BR AT FereU M1 R feahT gaim 82 Tuvr quiics

0.05 % SRTeR & 3MT AT 15 KN BT Gadd YR 987 BT 8

Ans X 1.392.7 KW
X 2.3927W
o 3.3927W
X 4.39.27 KW
Question ID : 630680227834
Option 11D : 630680884011
Option 2 ID : 630680884014
Option 3 ID : 630680884013
Option 4 ID : 630680884012
Status : Not Answered
Chosen Option : --
Q.81 2 m P da1g B TH Hfedhiar A FH1 2 m F g W 3 kN F g UR F e e wrar @
IR g5 R A 1.5 m It pa gl F 1T 3 kN/m F THwaH faafva R (ubL) & e
forar oI 31 95 RR WR SMU==u0r 9@ a1 a6 3mgef Ft urn Fifg
Ans & 1.-7.5kN, -9.375 kN-m
7 2. -10kN, 15.254 kN-m
X 3.-5.75kN, -5.545 kN-m
X 4.-12.5kN, -8.547 kN-m
Question ID : 630680205958
Option 11D : 630680798635
Option 2 ID : 630680798636
Option 3 ID : 630680798637
Option 4 ID : 630680798638
Status : Not Answered
Chosen Option : --
Q.82 g HIg Worel R a1 ufthar A o & g1t 7, d ST 3iarvr, F IR
gar gl
Ans X 1. T A ufkaeds
X 2. T & uRada
X 3. B 3R
o 4. 3MAR® Soll § uRad-
Question ID : 630680403968
Option 11D : 6306801575359
Option 2 ID : 6306801575361
Option 3 ID : 6306801575360
Option 4 ID : 6306801575358
Status : Answered
Chosen Option : 2
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Q.83 3idfk® g1 oIl (internal combustion engines) ®__ & T =ftae= worreht
3ifrard U 3rmaza® gt 21

Ans 1. 3o TH §H WR A9 T (faster rate) ¥ 8T &I g
X 2. $5H $ §gd T I7 9gd ST 7@
X 3. 39 381 8 W o TIfd (faster rate) ¥ 8T & geH
X 4. 38T H8& (combustion chamber) H IF TTHT 70% ST BT geH

Question ID : 630680382380
Option 1 1D : 6306801490435
Option 2 ID : 6306801490436
Option 3 ID : 6306801490437
Option 4 ID : 6306801490438
Status : Answered
Chosen Option : 1

Q.84 uff s yaR F A TR (rotating blade type rotary compressor) &, frafer@a &
T BT 4¢P, I=-319 aTd a1y yRitad (¥fpeiNe) #1 aiftd (evaporator) & araw

yared 89 & AHdr g2

Ans . # 1. 9% dled (Check valve)
X 2. SR aTed (Throttling valve)
Z< 3.QId dIcd (Pressure valve)
X 4. gR&1 a1cd (Safety valve)

Question ID : 630680506437
Option 11D : 6306801979263
Option 2 ID : 6306801979262
Option 3 ID : 6306801979264
Option 4 ID : 6306801979261
Status : Not Answered
Chosen Option : --

Q.85 7fe fAf¥a JT (fixed boundary) W ITA® %4 (real fluid) BT UaTE 81, aF -Raw Ft

(no-slip condition) |
Ans . p 1. IO BN §
X 2. 30 81 Wt Wl € SR et it 81 Wbt
X 3.9a8 & UHR R AR ol 8
X 4. 3 Tl gl

Question ID : 630680508622
Option 1 1D : 6306801987789
Option 2 1D : 6306801987790
Option 3 ID : 6306801987791
Option 4 1D : 6306801987788
Status : Not Answered
Chosen Option : --
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Q.86 %3 ! Yo Hag A Q19 H& B gal

Ans X 1. TF@HYU & g b URT: TS el
X 2. TRA P WU T 3 qren &
X 3. J9d e V IIHYUl $g b TERIS

o 4. A BT ITd

@ gt gl

Question ID : 630680508740
Option 11D : 6306801988263
Option 2 ID : 6306801988260
Option 3 ID : 6306801988261
Option 4 ID : 6306801988262
Status : Answered
Chosen Option : 4
Q.87 Which of the following is used to increase the temperature of steam above its
saturation temperature?
Ans  # 1. Superheater
X 2. Economiser
/< 3. Steam dryer
5 4. Air pre-heater
Question ID : 630680502707
Option 11D : 6306801964412
Option 2 1D : 6306801964410
Option 3 ID : 6306801964413
Option 4 ID : 6306801964411
Status : Answered
Chosen Option : 1
Q.88 3MUFHEl U7 F THd dlege BRI B a1 B ST dIege BRIT BT GBI ATH FIT 82
Ans o 1. 3T YR T
X 2.3= e
X 3. % Ufad ST sMaadhdl
X 4.3 q&dl
Question ID : 630680198970
Option 1 ID : 630680771607
Option 2 ID : 630680771609
Option 3 ID : 630680771608
Option 4 ID : 630680771610
Status : Not Answered
Chosen Option : --
Q.89 grw Wds yRita T & H-S 3@ & g, Wiifss & e ara wides! falke
TAAR (specific enthalpy) |
Ans .z SEdl®
% 2. RR (constant) | &
X 3.9¢ UT U gHhdl §
X 4.9l ®
Question ID : 630680506443
Option 11D : 6306801979285
Option 2 ID : 6306801979287
Option 3 1D : 6306801979288
Option 4 ID : 6306801979286
Status : Not Answered
Chosen Option : --
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Q.90 In a hot working process, metals are deformed
Ans  # 1. above their recrystallisation temperature
/5 2. at any recrystallisation temperature
/< 3. at their recrystallisation temperature

X 4. below their recrystallisation temperature

Question ID : 630680503239
Option 11D : 6306801966541
Option 2 ID : 6306801966544
Option 3 ID : 6306801966543
Option 4 ID : 6306801966542
Status : Answered
Chosen Option : 3
Q.91 TRIE FT IUUNT HIb JYFHR] URTT H UM M 914 Be B YRURS eI
H
Ans  .# 1.3 mm ¥ 10 mm
X 2. 1mmI 2 mm
% 3.20 mm ¥ 25 mm
X 4.12mm ¥ 16 mm
Question ID : 630680205078
Option 1 ID : 630680795175
Option 2 ID : 630680795176
Option 3 ID : 630680795178
Option 4 ID : 630680795177
Status : Answered
Chosen Option : 4
Q.92 ¥ siaeR § 91g gdarus & ey § Fufied # @ #9-a1 $3= a4 82
Ans 1. AAHIER YHR & I Yddraes 5, T U 1Y 9 Ydardd o1 Afeidred & s1eR
gared gl g
X 2. gTafS YR & a1y gddTas §, U T § SSHT B U HeAdd &A1 HSRUT AT &
ERT arg o RIATARd {1 S |
X 3. 91g gdaI® & SN ¥ IRgHES T Uguul &1 il ¢ |
X 4. ATPIHR TSR (SR €3Y) & drgyddrass o, T U T a1g vaTg & faudid fo=m &
yarfed gt 1
Question ID : 630680502656
Option 1 ID : 6306801964206
Option 2 ID : 6306801964207
Option 3 ID : 6306801964208
Option 4 ID : 6306801964209
Status : Not Answered
Chosen Option : --
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Q.93 ot g Ft srgepuviigar & Tay ¥ Fufefad & ¥ #9-91 grar 9 82
Ans X 1. 3FIHHUNYT UehH, Ud W@d- T o1 gl

o 2. 3chAvia Uwmd, e & Tl &l 9g1d g

X 3. SFISHHUNT U, SIS & UuH gy &1 Ieeres $vd g

X 4. SFISHHUNR UshH, SHEAMTAH! & [ T BT Ieaia Hed gl

Chosen Option :

Question ID : 630680503226
Option 1 ID : 6306801966492
Option 2 ID : 6306801966491
Option 3 ID : 6306801966489
Option 4 ID : 6306801966490
Status : Not Answered
Chosen Option : --
Q94 fFfu o d PR e sy dsermmefd_ |
Ans X 1. %M & R dRE I ST A yRkafld fpar o webar g
X 2. 391 {5 68 Mo 3 T e Bt 3R Wa: Tafed 781 8 Ibdt &
72 3. U & ARy ¥ aiNd IR ST B Bl § uRafcld B G4 §
o 4. UF B TARY F T TR S H B B uRkafdd & siva §
Question ID : 630680503229
Option 1 1D : 6306801966504
Option 2 ID : 6306801966503
Option 3 ID : 6306801966502
Option 4 ID : 6306801966501
Status : Answered
Chosen Option : 4
Q95 WU Fz A/ R) ITAMAF R PaFsaI R g wad gl
Ans X 1.0.5R
< 2.0.25R
& 3.0
X 4R
Question ID : 630680509611
Option 1 1D : 6306801991666
Option 2 ID : 6306801991667
Option 3 ID : 6306801991668
Option 4 ID : 6306801991665
Status : Not Answered
Chosen Option : --
Q.96 for<dt fraa Wae UR 'SRIYUT 3[GRAT (No slip condition) FafI@GT A A PO PR P RA P
UqTe W A 8id 82
Ans X 1. %9q offe Rd
o 2. 9 I A
X 3.t ergeHl @R
X 4. %aq g awd
Question ID : 630680508717
Option 1 1D : 6306801988171
Option 2 ID : 6306801988170
Option 3 ID : 6306801988169
Option 4 ID : 6306801988168
Status : Not Answered
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Q.97 THT-US YATTH IR THSH B a1 g&ram
Ans X 1. ¥dle®d & fowmue SR god arg e

o 2. 990 I1g e SR Tfis® & fawimom

X 3. Ufa e SR /T Sa

% 4. Ta g iR T vt Smaas

__ wrguasl

Option 1 ID

Option 3 ID

Question ID :

630680181651

: 630680703847
Option 21D :

630680703846

1 630680703848
Option 4 ID :
Status :

Chosen Option :

630680703849
Not Answered

Q.98 YIS} AET H A 31 F 1Y HeAH ATHR S Ul & fore fFrafertad & § $19 91 uoiee
[ad JUYH 82

X 1. Igd voies

X 2. fagd voies

o 3. 3139 viies

X 4. 3d.¥qd yuie®

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680508726
6306801988205
6306801988204
6306801988207
6306801988206
Not Answered

Q.99 fgferfEa A & e FIRR |, IS T Ad (welded steel shell) F THI HUTR TSR
¥ 217 PR B! difeed (bolted) foraT SITaT 82

X 1. 31&fg HUIR (Axial compressor)

X 2. m Ties HIR (Hermetic sealed compressor)

" 3. @fﬁ—m Ties HWR (Semi-hermetic sealed compressor)
X 4. ST HIR (Open compressor)

Ans

Option 4 ID :
Status :
Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :

630680506436
6306801979260
6306801979257
6306801979258
6306801979259
Not Answered
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Q.100 T Ga WaTE & TP PP &t TAAT h = u + pv GRT & 1 8, ST pv
Ans X 1.3 FHolf (momentum energy)

o 2. TaT8I T (flow work)
X 3. BRI (moving boundary work)
X 4. SR BT (external work)

@

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680503243

6306801966559
6306801966558
6306801966557
6306801966560

: Not Answered
Chosen Option :
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